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We are producing mobile phones,

We are selling them at alow price.
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I'mpassive, but Hueng is active,

Wehope weryone will attend this event.

Tomorrow's meettng will end early,
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Howlong has it been since your salary was increased?
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| think health check costs would be expensive.
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You do not know how hard | have been.
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Nowater should enter this product,
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Itis difficult to lower the price.
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1'll pay by bank transfer.
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The conference room door is locked,

Part 2 S5t G0| MBHSE i |08

Something urgent has come up.
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It has a translation function as well as a reservation function.
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Itis possible to record videotelephony.
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Our products are thought to be competitive,

Lots of features make it expensive,
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Textbook Scheme

Unit Task

Unit Companyand Part 1 | Reading Company Introduction & Introducing the Company
1 Products Part 2 | Listening to a Conversation about Introducing Company Products & Speaking
Unit  Saying Hi & Part 1 | Exchanging Greetings
2 Leisure Part 2 | Reading an Instant Message Conversation about Leisure Activities and Speaking
Review 1
Unit  Visit & Working Part 1 | Reading a Business Visit Schedule and Speaking
3 Outside Part 2 | Listening to a Conversation about Outside Duty Schedule and Speaking
Unit Interpersonal Part 1 | Listening to a Conversationabout Warkshop and Speaking
4 Relationship Part 2 | Reading a Post and Talking about My Strengths and Weaknesses
Review 2
Unit  In-House Part 1 | Reading &Writing a Notice
5 Communication | pat 2 | Reading &Replying to an Ir-House Messenger
Unit Personnel Part 1 | Reading an Article on Self-Development & Talking about My Goal as an Employee
6 Management Part 2 | Listening toa Conversation about Transfer to an Overseas Branch & Speaking
Review 3
Unit  Working Part 1 | Reading & Responding toaPost on How to Manage the Salary
7 Conditions Part 2 | Listening to a Conversation about Company Employee Welfare & Speaking
Unit  Customer Part 1 | Listening and Responding to Customer Complaints
8 Counselling Part 2 | Reading and Replying to Customer’s Email for Consultation
Review 4
Unit Negotiation Part 1 | Listening to a Conversation about Praduct Price Negotiation & Speaking
9 and Order Part 2 | Reading the Order Form and Placing an Order Over the Phone
Listening to a Conversation in a Problem Situation & Filling Out the Return
Unit  Problem Part 1 Application Form
10 Situation Part 2 | Reading a Messenger Conversation and Talking about the Reason for the Problem
Review 5
Unit Product Part 1 | Reading & Writing Product Feature Manuals
1" Description Part 2 | Listening to & Writing Product Ads
Unit Part 1 | Listening to a Market Resezrch Presentation & Reporting My Work
Report 2
12 Part 2 | Listening to a Presentation about New Product Development & Giving My Opinion
Review 6

HIZ i3 HIZ 4= B|ELA 320 2



Grammar Vocabulary & Expressions

=11 I} Company Introduction-Related Vocabulary
-7 Product Features-Related Vocabulary
-HI2 Emotion-Related Vocabulary

- (@)=t sict Leisure Activities-Related Vocabulary

-= =0t Visiting a Branch Office-Related Vocabulary
-1 LA Outside Duty-Related Vocabulary

=i Workshop-Related Vocabulary

-(@) /=0 Personality-Related Vocabulary

— 7| di2H Notice-Related Vocabulary

—(Q)E HHL Messenger-Related Vocabulary

-7 {I5HA Self-Development-Related Vocabulary

- ZC} Personnel Transfer-Related Vocabulary
-(@) X| Salary-Related Vocabulary

-(@)= A ZCt Employee Welfare-Related Vocabulary
AOLt - (2)L /=] R20 Customer Complaint Consultation-Related Vocabulary
—(@)H ot E|C} Helpline-Related Vocabulary

=717t Hgo/slEn Negotiation-Related Vocabulary

(2)2 it Order-Related Vocabulary

- OHO U Problem Situation-Related Yocabulary 1
-HEQ Problem Situation-Related Yocabulary 2
GIC7t Product Features-Related Vocabulary

= (Q)Lﬂkl Product Description-Related Vocabulary
-0l 20|Ct | iarked missearch Report-Related Vocabulary

- O/ X|C} New Product Development-Related Vocabulary

A 7y
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Explanatory Notes

King Sejong Institute, which promotes Karean language education and the spread of Korean culture
around the world, has developed <Business Korean 2> for overseas Korean learners with business
purposes. <Business Korean 2> was developed as a textbook for Korean curriculum for business purposes,
with the goal of helping learners to improve basic Korean communication skills and to acquire basic work
knowledage in the workplace,

Direction of Content Organizing

+ <Business Korean 2> was developed to help learners learn the business knowledge necessary for

business situations and improve their job skills based on the basic Korezn communication skills,
according to King Sejong Institute’s business Korean curriculum.
In crder for learners to learn practical and essential business work knowledge, a demand survey of
Korean teachers of King Sejong Institutes overseas, prospective employees seeking employment in
Korean companies, warkers and middle managers of Korean companies, and corporate personnel was
carried out. And based on the results, learning contents were selected.

« In particular, the demands of Korean language learners for the purpose of work and the opinions
of employees of Korean companies abroad were collected, and thus contents that were said to be
important in the job situation were actively reflected and arranged sequentially,

« This text Is composed of essential topics, vocabulary, and exgressions commarly found in the
workplace so that learners can use thermn usefully in business situations.

« Itincludes a variety of practical task activities to improve the harmonious communication skills of
speaking, listening, reading and writing, and to develop reading and writing skills based on listening
and speaking.

Considering the connection with <Sejong Korean>, vocabulary and grammar were selected so that
learners could Use this textbook after studying <Sejong Korean 1 and 2>,

Organization

+ <Business Korean 2> is composed of 12 subject-related lessons and 6 review lessons.

+ One lesson consists of two parts, and the total number of parts is 24. There are review lessons for every
twe lessons, and the total number of review lessans is six.

+ There are 24 grarnmars, one for each part.

« With six subjectrelated vocabularies and average five new vocabularies per part, a total of 244 new
vocabularies appear in this texthook.

Curriculum

-+ The curricdlum can be operated by selecting either 48-hour or 60-hour type depending on the
crcumstances of King Sejong Institute.
Since the education time per part is 2 hours, the 48-hour type is tc be run for 4 hours per week for 12
weeks with the review sections as a task; whereas the 60-hour type is for 6 hours per week for 10 weeks
with the review sections included in class hours.

T |
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<Business Korean 2> is composed of 12 lessons.

- 2 2t (@07 @D 2y=ol o @ @Bs =2, 9, Fob), M2l ea
ZISHECS,
Each lesson consists of Part1 and Part2. Part] and Part2 are organized in the order of introduction, practice,

speaking and task.

L Introduction

Bl &=

Part?] st SES JACH i
It presents learning objectives of
the Part. O LS Yist s

AN 0 v e e i

Parte] =j& LiSD 23S
AEIZ HIARRKHCE
et =7 222 Sl
r~ SIEXLEE KHAEA s
! LEe 2 S5 4 Q== S

A photo related to the learning
content of the part is presented.

R s ._____;L__Ji Through simple listening or

boe e questions, the learners can be
T naturally guided to the content.

B waaraas s

12 HIZ B3 HIE A= HI=L A 3201 2




Practice

Part®] Z=x|2}F gEE 03
% HEg MAC

02| W EHE FA, SAL
2SAL 0] 222 12|
Ziich 202 HEMCE

The vocabulary and expressions
related to the subject of the part
are presented. Vocabulary and
expressions are sorted by noun,
verb, adjective, and collecation
alphabetically.

5 E.]Gﬂ CHst ZHEtst
'ﬂ%a AR 2 A AR,
A brlef explanation of the targst

grammar is presented with the
translation.

[T, e i
z tunmunmu&wunlmnu&:mn j:ﬂ:’ Oi HE“=I| _'_x_llg %OH
L= SfolsHA| Hct
- Asking questions helps confirm
i il that learners understood words
e ! o and expressions corractly.
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maan 21144 19 N S Wy,
[rrpe——— ing
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A L o
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ARl T
Inmm-‘u&‘l:mn»
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== =
MZ L2 ¢SS RIAISHCE =8 8

New vocabularies are presented.
grammar.

SumaTe g e G

e p——

£

A BN BT L E G

#0a% ool Yeun

unE v g
bl MBI
|

BE W gu g Hrat
2 mem

Speaking activities are presented to practice goal

015| =1 Eoi‘:’ I'tgl-op‘ﬂ

AFO|LL i B
=8 20| o1H 0127
ABEI=K| 27 91k

The photos or pictures show

Py when and how the target
grammar would be used,
tigs o] Es22 AARICL

o
HEW iE o
WML By

2 f 23 QENE P 58 U

g:!!i: e

HEW Unedie
R

AT g W 23
TR

e ]

9 BE TP NN MW oUTT

, =— 9
'—7—-?
[ s=me |

Q e W o unEg
Lt

FRTE w20

..7&

__

=H FYS 2% H|ZUA A3
o7 HE22 S0 T201H
BE HAGHM CizE A i
SEAE0M =50] 2 o U= YLt

B T AA—
It consists of speaking practice in business
situations using the target grammar. Pictures

or tables are presented to help learners
organize convarsations.
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Speaking or writing about the topic of the activity,

learners can re-check the part’s learning and apply it in
real situations.

BT U

ST HAHRI= AEIOILE

- HEE Sl 2 22| LiEE

g =
oS3+ TS Hrk

Pictures and questions related to the
activity helps predict the content of
the activity.

L MO A
Yol?| S2| 5 7/Is2 HEY
& UZ= #Ch

It allows learners to practice multi-

skill such as‘listening and speaking;

‘reading and writing“and ‘reading and

speaking.

Part2| X2t A= =7|L

- B/IE E Oli=A ZHE

Soll 2lsi== Mt

Asking questions allows learners

to check to see if they had a gocd
understanding of listening or reading
related to the topic of the part.
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FEE

ST

AAE

X220
SHE RHE

VINELERYZTES
g8 59

Characters

ol=at 2ixof
TOE 5

rAESN

KT T

JEE

2IAHE =l




2|\t =

Company and Products

8IS =X Aims of the Lesson

g Of =
5ok 2latd| sl A0E 4 Qi sales

To introduce my company. e B L R S

MH|A
service

PNPN;
branch office

We are producmg mobile phones. employee

(ot

sell

AZlE MR

make a plan

-1 Ut
SAH FHO| 2OIM BX| OfF US
SHe S LIEIC:

Attached to a verb to indicate
that the speaker is currently doing

something.
i ) - A& gl lgick
» G{24i20| CHl= A= o SlAlL7? - A2 # sha Yoig?
What kind of company is your company? - 8Z Et 3o B20j= 2ESD
- 292 BiEL FlAIR? Wi,

What is your company producingng?

. HIZ B2 HIZ M BZL A 3201 2
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SHZ K3E 2ot 2 HA2,

The followings are company-related vocabularies. Complete the sentences with the words in the box. See the example.

&te0|

v XIA}

HIEEDE Ef=S 0l AAE 7+ U

MH|A

)

0] "I

2. =2 53 E2)

g HAUNYEZ2 9= DA 9= Gl Q5L 71

STl
St F5)
Azle Moot

‘ll one hundred million

UL

017t Z&UCL.

@3)

22 =ALAA ==
2,000 H0IUSHC.

o 20| CHetE 2HE0 2HAL,

Make dialogs. See the example below.

= Hat 70 A2S M2

USLLCE

(1 ) (3)
=4 HYE oixpeig
MEE 228 ME EA|5 L0l Lhs 7t
ZH[5Ht AFZS mHSICH CIXterS JHABHC

C|XFCIE! design team

o1 st = @7
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Let’s talk like the example.

€D
HEE RAOIAE 28 0EH H= UK

B0 M3 MaEtT YL HIES XIAf
SHe o B0H MBS AABICH
ze  100240|C}

1008
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- oS

TH S ot Br}

o =A SEE g A SEEHNE 2F OEH Y2 U ]

si= g Mz gas | |
BrsC) —— D
gugy saungne @ owmans ﬂrgum?}
o=
|_E [ ?“;‘h

{18 1= o 2 = bmUL #5012



1. SlAL A7HE 2 0 O LIS HolH 2SR « 2 5t 0[017[5] 2HAIL.

What should you say when introducing your company? Mark +* and talk about it.

L OiE U AHE RO A L 7|E

2. LIZ2 MIBTIALL] 3|AL ATHRILICE S ZE0] HouA2.

The following is the introduction to Sejong Electronics. Read and answer the ¢uestions.

PRI .

1995401 Ml MEMAHS B2 MS0| 2APE USLICEL HAlet 27 HEY, ®WAIZ S
1070 KIAKGIAL 3,00089] A|210] 2252 YELICH

HETRHS Hauld, ZEE, ST M5t 52 MASIT UALICH X MH0| MESHK NES
DHRSIT QIO AHd HES 87002 ROIQALICH MZHA MZES TE0| & o LD
MHIAZ} ZOLM THSOIH 91717} WSLICH

L

(1) MIBTXI0H ChSt £HO| ofd A2 FNL7I?
Which is the wrong description about Sejong Electronics?

@ AE HHS2 8,700% HRLIL,
@ 0| B|Ak= 1995401 2USASLICE
@ 23l LA 220 3,000 UL

(2) Si2 LB 228 O, T=T X ohAlI2.

Put O if the following statement is correct and X if it’s wrong,

@ MEEXUM = RO H2tE US1 AL ( )
@ DY4S2 NBEXOM UE MFS E0FRLIC ( )

3. Of2[2 2|Atof] CHaiA o =25t FS0A 27160 BHAL.

Take notes about your company and introduce them to yourfriends.

= 3ALOIE

= EADH QU= R
|
ST o

m OtCE.

rr
=

o

; 4210| KCt wasfounded & andsoon o1, EMet HE .
|



ARdo] Z5ohe glale] 4EFES 4718 4 be various
o)} P -
To introduce your company’s products, =] J-|[_|-
be heavy
Part2 | b =
- s be fast
I||:| xl%'d’ﬂl LH]HﬂLIEI. M|}
We are selling them at a low price. be sophrsticated
rgoict
be cheap
Mot

be comfortable

B 2Y cranma

-A
S2AF o) BOIM Hol 2= =
AlE T ZL0L

Attached to an adjective to modify
the following verb.

- b7} 517 28 wseall
4o,

- Of2iE BIAOIAE Of HIZE BHsole? e o

1 MS2 21717t Bole? Sl

What products do your company make? Is that product popular? - BA) A kel A] galg gkl
el LTk

@0) 51= o9 HIE 2 BIZU 2 B0 2



R— ]

1. 32 = SERUOL e} 20| B30 S0Z 0FS R0t XHAI2,

The followings are product features. Complete the sentences with the words in the box. See the example.

=t Hatct LS Xgstet

A0} wrSLICH

(2) — . _mew 3 Al :
= i : 3 e

7149 CIAIRI0] : 7140]

2. C+EE Sizole X0t 20| H3lE THE0 HHAL.

Connect the sentences and make dialogs like the example.

v 7H20| HIMCh e « RfYSICH, BOfSIT UCt
(1) S : . =L aiselr)

(2) CIXIRIO| 25 Zic - « CIRIRI0| CRgsiC, Ligic)

(3) CIZ sl MIZ=cH3n | « I MBS0 70, ISt

ﬁ 0] HIZL2 742{0| HIMQ?

OfL{2. XA Efstl ASLICE f:?

. H|MIC be expensive 2L} be same 01, FAMStEE 'ﬂ



@ EXet 20| Faf 28R,

Let’s talk like the example.

EJ'I
Of EleuEE HiML?

Ot 2. MEEIA mof5I QUELIC

= X|ZSICE TOHSHCE

= 0} 2SN

). BT IHE YA

o

& 752 Cae? |

O a

7 0| #uEs 257} %’E#R?-J

], OFZ atA]

otCh, Argdte &

e
QJ
A

=
c}

= W2L} Yed 4 QUC

5 LIS ABIAE 22 4 20127
T a

2 o) =0 et 7150 20j27 |

), JRR|R Lt a

= 0} AFSSHA £ Qirt - |
u Ii'_? 7"@[.}5 l‘% E,} ‘é? 37|: El‘UtD‘? \
g a

—

° HILZ B HIZ 2= BIELS 31501 2 SlH saeen =L e!..‘@:r}.«onﬁ:w




1. ¢{2120| ALl 2 HIF 5 MY OrS0 & A2 FALULIN?  H 5 1 OIFE 0[0F7 |3l

HEAL,

What do you like best among the products you have used? Mark « and talk about why.

S0 st L dEd

2. E-|'9'E = thoﬂ E—I‘A:IMQ

Listen and answer the questions.

(1) FC X8t Moj| CHet MHO = gX] o=
What is false about the mobile phone M.
@ ARBULICE
@ 7150 2 el
@ THS0| BE3H KIZLULIC

. Eefleld i 7IEL

Track 01

(2) Mojl TSt 4Fo = SHOH O, E2|F X olAlL.

Put O if the following statement is correct and X if it's wrong.

® 7FZ0] U BRILICE
@ i F8ko| A0| CHABLICE

3. Cl2[2 2|Ate] RMIE2 O FEHO| USH7F? T2t 0[0F7[58] HMAIL,

What are the strong points of your company’s products? Talk with your friends.

- NE OIF

- 7H3

e
BHE(GIC}) satisfied

o1, et uE @)



22t o471

Saying Hi & Leisure

852 Aims of the Lesson

O2HE
To say hito yourcoworkersand respondto || o
their greetings. I:H l.'_ta. I:l_
—
be great
Fat
: : be envious
= L ;FAJ rHH | o ...................................................................
— =
SAH M= 2 Himly EWNEE
Hueng is always busy. be diligent
Oy
feelthe lack of
2120 =Tt

get nervous

re)

SALf AL Holl 2OIA S&0
Lt HERS LT,

Attached to a verb or adjective to
inclicate surprise or admiration.

- 22 W UT Qe
- oh} M Bhtolg Ao dahiR,

» GEE 2 S|Al S22} X 0[0F7|Z si2? - ol=a} M= E A S "
OfiH O[O |E SHR? o8,
Do you talk to your coworkers often? What do you usually talk
about?

o HIZ 2 HIZ 2= B[ =LA 320 2
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v

Vv oo U

(PR

L

L)

v

f

1. OS2 27 23 oIgUct, et 20| 280 S0z ZeiS

ZHOF MEAL,

Here are emoticn-related words. Complete the sentences with the words in the box. See the example.

v 23 OtECt FX|Hs 2IEo| ot
s N
57|
S 0] QU= M= 01 ﬁuu 7t =0 B8 UL
| elSEtupt SR RIZE Qi 2 QI0iM
(2) 7 342 H‘r;;_ol o]

2l

Y Z2ME SRS FLICH
SHE2} RS 0]01A

OtL} M= O 2 SO

2. OEE 24 002} 20| T3S TEt HEHAR,

Make dialogs. See the example below.

€D 7 o yze 1o NY SEER.

Bat of
v' 0| Alge 21717t MY s et atelr \
(1) LS AL ;0| ULt 10| Tt ‘\|
(2) =3 3\ 04S0] 109 HOIACH CHEHSHCH |
® 2 siAl0f AL | =y _\!

3) M sS40 =

A& forthefisttime | & thefirstgrade



@ EXet 20| Taf 2HAL,

Let’s talk like the example.

=
2E HEH XLH2?

~ - o= MEZ Z2HES
MZ DTZHES AESHHL. she o A|REEHC}
A E|S SEAF C o4l
X M EE g 20| ZuR 2K M EIS 5pAt
w2t o
bl & HAO| 20IL, =01 Bt

Ort M= EY
FAIEISILt

\
|

J
23

| ey # K22 238 7T

] [w

[ = Al BTE U0| WOIME.

3. ﬁ U g 327 }

MHIE YUE 3P} QUCH

2. 7 o2 20 gaer

- -
LIE0| =ZCt ﬁ ; ]

4, M E Q. a

o

fir

ne
s atniim

° HIZ Hi$| HIZ2 &= B|IZEUA 320 2 KILHC} leadalife M already  EZ|C} feel nervous



1. GHEES 2F HEA XEH7? et 20| UsLm?

How are you doing these days? Is there some occasion?

2. CF32 2U=c) Mgt Oty Mef ChafLICE =1 ZE EohkdAl2,

It is a conversation between Indra and Ana.

(1) 2F 2=zt M= Fs gL
What is Indra doing these days?
O Z2HEE i USLILY
@ i XS5 =05 b,
@ Os =0l =% £ =HIE 'L

(2) S2 UE2 227 O, T28 X otalAl2.

Put O if the following statement is correct and X if it's wrong.
@ OfLt M= 2F =2 ElZ=UCL ( )
@ Ot M= T2 88 =02 35 gL, ( )

3. Tltet 20| QRS =1 HiEsl 2HAI2.
Exchange greetings with your friend.

1) em—— o S
ZE Title

' st E 25 OIIAE0] SIAEE §= [ HE= A8l d FaY, O T S3 20| 584
| Ch 2|0 YAREO| OHAIEE FE [ AI30| JUOM OiLt FY Y R HET, XE0| O™ ‘Ot
MUY N EE O L SY HCR FEULL A7 22 SEST|HE HEE 20 FEZILL OO M, !

00 J'o2 BB i
. In a company, when juniors call superiors, they usually call them using their titles such as "Kim Bujangnim |
' (Department head),” "Ana luimnimi{Person in charge)l” When superiors call juniors, those with titles are called, !

for instance, 'Ana Juim{Person in charge)' 'Huong Daeri{Deputy manager). Even colleagues who share the
samne position are called with the title or without the title such as'00 Ssi' or 'O0 Nim'

02. ekt ozt @R



A A & S
E.I'—EI[ Aima of the Lesson EIJJE.':I
il)\F 559} of7} Al=o]| djsl ojo}7| gt 4 famous restaurant
To talk with your coworkers about spare time A=
planning. stra:ght holldays
CHAQL}

go and get back

L: = = O n o A T
I-I—='|0'" Jli_l?'E = L. E”I' OH QJAI{OH_‘_”
I'm intencling to meet my friends in the evening. eat out
OfHE T
setoutona trlp

(%WD‘“ﬂEf

have a lot of work to do

-(2)=7 St

SAFEIO) 2OIM SHAlsp 2t
242 OILIXIZE T & MZio)
QIS LIEtHCY

MO =
Attached to a verb to indicate that

you intendto dosoevenifitisnota
definite decision.

* Gi2{2 2 FLO|LE AlZI0| S U BE FANS R EC R R T
LI oS oliR? EtE TLR? F7lol W) 2¢ gt et
What do you usually do on weekends or when you have time? 52 S AL el
Do you travel? Maet a friend? E;;} He.

HIE el HIE M B2 3201 2




07t ESRILICE 02t 20| 230 SUZ HolS A0 MEAL.
U2 S sict

The followings are leisure activities. Complete the sentences with the words in the box. See the example.

v O3S mLtct

[y
Che Lt ?| &5tk
——

0| 2210 Bj=2=
ofthS md HollR )

-~
o (3)

2= E|Z2g 20| 753

2. 08 20 00t 20| tHaE TS BEHAL.

Make dialogs. See the example below.
sian ol e sie. B

& b
c :
€3 g 0l S50l & 8 70|27
v M (2) 3)
0j# iz = 2% O o oS £71
S dswmome = JEAIR BT HIZE0f 7je
[HLbCE grol 7tk

02. ots9t of7t @

-

.
o

NN o0




@ EXet 20| Taf 2HAL,

Let’s talk like the example.
o5 x4

2= X4 H & AWK?

=
=
Botin oMzt

LEZ

2. ﬁ Ol Z40 & B H0IQ?
olsa M=Q?
= 9302 o2 wiLtet
. gt2o) 7 Bet

H. &7t 2 EUHAL.

ol o & HHQ?
 XRR0| M=2? &

3. =) ol o1
3ol chaQck i L =
Erad o138 waLkch \&)
e bl ¢iF & HLIHNL.
(AZF2) BUHCH spend time 8] burope  ZKFA] alone

@0 1= e vi= 25 BiEUL B0



1. 6222 =2 A=0| ASU7? FAS & Y2A/LI? « B 5Ll 0[07[5] EHAI2,
Do you have a weekend plan? What are you going to do? Mark «* and talk about it.

1o i1 g2 R BT L1 7|E

2. CHZ2 2{0F M2t 0204 M2 TlAIA CHRbLICE & SHT ZE20 HokhAL.

The following is a messenger conversation between Riya and Lee Minsu. Read carefully and answer the questions.

2[0f

B14 W, 0] 1%l B sl?

Zit [ ExM g Tl ole. | ‘;)

B

J2R7 0ol= 87 | olgis
it | " msioz2 20tsig, ‘;)
. S

2|0

[ oL B0 WU 9L, - —_—
‘ 210F M= OfF1 ©1z0f _
2D suei gojR? | @

X Zop 27 818 e
| 8B 4R masAR. W, 1% X WLIT e o BiLkg. Q
' Ry

(1) & A2 F30il Cish O[Ok [EHLI?

What are they talking about?
@ F0| ot H2 & @ ggd =g @ A F7H0| 2 &

(2) 82 U3 223 O, U=H X 5HAI2.

Put O if the following statement is correct and X if it's wrong.
@ == M= 7HE S0 OfdlE & gLt ( )
@ 2|0k M= R0 SET AH=0| ASLICL ( )

3. OS2 B Zl5tet {710 Chall Ol0F7[a 2EEAIL.

See the following and talk about vacations with your friends.

o Zmyez ) (o wmuesy
o smaeY ) (o ZOZMAS A

( 3
ESIL} be spedal 02, et izt @)



Vocabulary and Expressions

X [1~5] HE & 220 Y2 AE N2HA L,

[1~5] Choose the appropriate answers and fill in the blanks.

25 WIpEEC) AF0A Atz 40|

[

@ 2 @ 2asLc
S 0] OIS HLH= 217} K=
@ WHELICH @ HIMLICH

3. A0l 27h= 0= 7127
B: A2

@ 29d= 71K
® &7} J4|9J0| Ble)
Q O A= K21 UL
4. A Hi= XAE QF HIES B0 Hiista AsU?
B: .

@ UE0] FEUH
@ MElAZEEE 25U
@ 30089 A0 27

5. A: 2l0F M= OHY &2517| Hf| st=0E SRS,
B: J12iR7 2[0F M=

@ 0 sdsid
@ gY BEXHoti 2
@ StxUHE iR HUR

B2 H1= el = A HEUL $30{2

@ THELC



Ba51 =2AICH. 121 |

Let’s Review It « Terms 1-2

@ B Grammar

% [6~9] EE &l 220 Y2 HE 1EHANR,

[6~%] Choose the appropriate answers and fill in the blanks.

6. A 2F 0 US 5127
B: Rejd|™ MHSS
@ i HR
@ WU SR
@ st UHL

7. A Xs gt 20 A2 1038 §0R.

B: QIS Ml R4S H O]

@ guL
@ SHSAIL
@ 32

8. A:QUEat A, O AT 7 & HHK?
B: ISt Ei= 0l

@ 714K
@ &Nt oL
@ 7t A Hot=

9. A: OO ME LI2 HIZL 27| 240122
B: . i )




10. CI2 2 10 U2 UiEE DEHAR,
Listen and choose the right answer.
@ O3 F2H 8710 L.
@ S35t oS Mt SHR
@ 2XtA ol AHl=2E bIZg = YN

Track 03 |-

% [11~12] 28 210 20| goRAIL.

[11~12] Listen and answer the questions. L S

M. 0APt5he 28 LEHAL,
What is the woman doing?
G OSHES Bl I
@ E0f MBS TOi3ID UCH
Q@ M= A AIZS 7126t UL

2. 52 W& 22 S DEMHAR,
What is true?
@ OIRH= BLY FSHE M2 AT BHLIC
@ HXs OB BEHEES of1 USsLICE
@ 7|1&ste U= B WeH= 7150| BaUtt.

3’;{ HIZ B3| HEE &= HIELA 3120 2



Let’s Review It » Terms 1-2

i PI Reacing

13, LSS & 910 W81 LE A4S EHARL,

Read carefully. What isfalse?

[ =21y | 19002 28 10 :
FRAXIOIA EIHHE T
S | N2 @) @ St MALOAM EYH|EZ ELC

o st me, GEEE ERE s ma|| @ SN IHEE 50009 20| o BLCk

W1

g 4 | 27259

% [14~15] TS HIAIK LIZS A1 SS0| EoHIAIS.

[14~15] Read the messenger conversation and answer the questions.

|

=,

@ a9l u), 95 X 2L 8|7

20t HHIE Hot: MY
A A0 2P| = HolR . |

22
@ 9, SH0R.
ar : 1, w2l =1 ol 1

s o5 x40l &

@ Holq T At R, )
al » -

14. G0 SO0{Zt UL VS TEHAIR,
Choose the appropriate expression to go in the blank (.

@ ZHIE Y1 HHL? @ SHHo & AH 2. @ St A0l AHK?

15. 0] 22| L8 Z2 A2 LEHAL,
What is true?
@ &Y W7t SEES 2UASUCH
@ 22 M= 25 X4 4£0] flgU),
@ &Y M= 25 HullAM Z2H|E Y= Fuct,

5,82021 Q@ SH=REAOIM 223t AE2 2,7268 &L




= 22

Visit & Working Outside

§I&= 1 Aims of the Lesson

vz s GEola g ¥E Fuleh gE
Lol sl 2 4= Qi

Ta talkk about visit preparation and schedules
in business situations.

= = P — L=
2|2|0f| Ao\ = St L=
S EKHIS
Q8= ZHIAIC
Let's prepare for the following schedule while he is attending the meeting.

’

- 5 AERE BUS ZHIRLZ?
=1 5= A0l 25 v 2 SHAIL.
What are they preparing for?
Listen and mark « all the correct answers.

[ d el
) 231 A= &4
L1 39 g4 =2

@ 1= el vim 2 bizU2 B012

58
meeting

X}
[

factory

: MLﬂ A@ —_—

in-house facilities

‘3_4%

present situation

A2 (otCh)
encourage

XIAl(GHCH

direct

-= S

SAE FHoll 20 T Lo| AlSE
= AlZHS LI,
Attached to a verb to indicate the

length of time that the action is
continuing.

- AE AdE o= Sot 1%
el aL Fha.

- 771 488 B S A A
gl L.

--227} 3o FulE she F2 A
doke 34l L,



R | |

1. CIE2 XALS EZohiM of= LRI ¢

12 20| 2E0 S01Z O3S H0t AHA2,

Here are what the boss did after visiting the branch. Complete the sentences with tha words in the box. See the example

g o AL ALY

i 5t X|AlGtct

M&'E0] 22| XALS LEoHISULL. = Qooil 0H e =5
B AU N S SeiRasLIC Esh= 220 E4sHisU.

: = = 1 “T T—
= " nuEgge O
2 95HMIR

320 MHE ELE

2. 0SS B0 002 20| HistE TS0 HEHAL,

Make dialogs. See the example below.

wam &
QB O U

2]200i FA{StAICE

03, W2t el2 (37



ﬁ SSH SAICE Levs an
= of 20| el XA,

Let's talk like the example.

=28 A=S ¢
Cis =12 FHIS ottt

KIANAEHO| ALY AlES BAICY

SHd, O/H & &ma?

SHe| Q ‘1.-_|
v 2 L2l ste| 34
AP {3 QIEE 2RUs
H AAL K= St
39| A== FHI5HT

IOO

ST TH| Hoff F=A 2

S Heca

2 Q SR OF| 2 STRY
T,

v Ul Xl

=

3. Q SRy OF B &Ne?
T,

Ll Xl

M

38 HlZ 9 HIE A= BEUA 320 2

[ Y Zdlsh FAL.

UL, TH| Hoh =M

Cie g8 Edloh FML.

dAEUL H| Hof

[E YEE Edloh FAML.

UABLIC), ZH

_‘_"J:_:Hal |:|‘) request é.l )\H o} EH have

s:’lf !

9

¥,

zne. 9
-, .

2

mep zhe. TY

ameal QK| now



1. AFSEOI (=20] Lot= 20| 2ELCE, FRXE ZH[oIH SAELINT

Your boss is coming to the place where you work. What should you prepare?

2.CHES 9 20 EoldAlR.

Read carefully and answer the questions.

CHE S:0il AFE'HO| 22 XIAIS ZEELCH XA HASE AP YEE et
H2 dsS FHISHD ASUCL FUYH BHUHE S 3E ZOME &6l JAsLC

712 UM B2 EH|S Stz S YUARUME A7 ZH-H3IE EHI” HUD, ZREUM=
A 39 (S BrASUCL THI7F HEACH EASUCL

S

(1) 2& A HAS2 TS ot AsUI?
What are the branch staffs doing these days?

(2) =7t & LS "HLN? BZal EelAL

Match the teams with the tasks.

® =" - et S o)}
@ omg |- - N e
@ a29 | - 3o ZH|

3. AFEIES) XIAF U QUHRILICY TS QS 21 EHD9 20| Yo BHAR,

The following is the schedule of boss for a visit to the branch. Look at the schedule and talk like the example.

by S0| 5H0F &
—3 5/20 10:00 p NG =
' 1030 | N =75 ay T AL OIT S9!
ﬁ 12:00 HA ALAL |9 71 5| KA ZEH|
&3 15:00 AIAL =Y 7HErE] Al 2= oo} =0l

(CF) Kol 52 209 27 o Mol Mkloll ERsHYLICE 27 o N AHY Roil
RS 2 Slololl BMSHNE SO T REIL HA MRk ollokS BFoIgHUC e

. 7|28 planning team =BG arrive 03, w2t oja @



3_!-.-1“-.5‘_13[ 2

slatel o2 %ol clef olaiskn e s
% gk

To understand and explain outside duty, _E] |

T ERIAE oot 11 LEA Gj2kstE T e

d&(ott)
explain
A1 My

take care of

2Ot}

look for

@ _E-Ia Grammar

-1 LA

SAF 50| 2OIM T US 3t 20
[HE US §HS LIEICE

== o=
Attached to a verb to indicate that
you will do something else after
doing that.

-¥hE o3 U A48 ohaL,
- RS YR UM AE leg
- 31918 82 UM olildg 1Y

Auek

- T AIEEZ 25 ofcloll ZLnr?
=1 5= Aol v I SHAIL,
Where are they going to go today?

Listen and mark & the correct answer.

Track 06 [ :

28 Dwug A4

@0 1= si3) HIE 2= BITUS 3012



(g ) 10N g

(g B

1. 22 22 YFYLICH EXhet 20| RE0 S0i2 013]5 5ot MHAR,

Here are outside duty-related expressions. Complete the sentences with the words in the box. See the example.

st V ofEicy LldS M} 7tAS Wz2|ct

11111 11111

Ol 2AJ0ll oHE off 7tM AMHIES| 0iE BES YotFiEuich,

O L U

(1) THEM Yotz HASE DASHN HMES SEHE E O}/0{0F
L
o) (2) MMIZO| BIMLI7E X SHCH B0 B Of/{0F LTt
-
5 (3) AREE MIE HM0| HEI 2y

2.CH3E 210 709t 20| i3IS THS0 2HAIR,

S Make dialogs. See the example below. 0N YHS Of3? ——
- ~

5 7wz yee oM & AU

S0} BLED LM 32T BUL
0HE Y2

5 Jm =2Es | HAE Yotert |

3 (2) HiE 4t | AH|Z} HISS YO

= AMAE 810 | HIE 7148 aHsict

T} gowel o3, #=zo @



@ BoH SAICE Lets tai

B0 o 20| Yol HAA L.

Let’s talk like the example.

HHEZ 2717t 22 BY

. e Aol soaun & | aziss oo
ﬁ TR0 Y0 25
M 7ls SBe = 2

2. @ urze oyt Ee AU

¥

i, S AFRI0| AL Q IS el

). o AR sqaUn €) | oxelg v

ﬁ 220 Y|S0 |
e | ROl 2E0
A9 IS0 O AAS MASLLY, Q X2R0/X| &0}
2

& HIZ Hig] HEE A= BIEUA 31204 2 SC} indude



1. AMNBES2 28 OH0A 2AZS L7 /123 713 o g3 §7R
Where do office workers usually work outside? What do they do while being on outside duty?

2.02S =10 ZE0 HolEAIL.
Listen and answer the questions.

(1) = A2 F01l tisf ot AZLIIN?
What are they talking about?

O &d 28 @ 22 ¢d @ Yz =Eht

Track 07

(2) & A 2R UHE oFA HLm? £US FHlE UM He R0l v B SHUAIR,

What is the schedule for their visit? What are they going to prepare? Mark « correct answers.

TIEA S = ST UE = DTN HESI A
Y= U

LI SALEE = D{EOA ZEST AA =» SEUE
ZHE H [ NYE RE LBl oS

3. 22 YUHS M FF0fA sl 2HAL.

Write down a schedule for outside duty and talk to your friend about it.

| (| | | | A 1 T

©10:30 SNt B

oI 97

el |

AW 3| information session 03, 4RI 22
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AICH

CHO!

Interpersonal Relationship

2|

&I’AEH Alma of the Lesson
25 Suldl sl 28 4 At

To talk about preparing for the workshop.

EQX0 HA3&S

Let’s have a workshop on Saturday, not Friday.

SN

/

"'RH

- 9 Altse S0

What are they doing?

<]

Sl

USL7N?

- H3E0l 71 = Ho| AL

Have you ever gone to a workshop?

@ HIE iR HIE A= BIZLA 3120 2

g3

lecture

E ==

worksho p

%IEL

teamwork

Lt

divide

(OH:D S—

c1 iscuss
” ?Hﬂ(a H:D

improve

= il

GAL Ol A0IM 2O FAE 71

H5t0 Hel HALE MeEters LiE
it

Attached to a noun to indicate that
the latter noun is selected instead of

the preceding noun.

st 23 23)e Sl

- 2189 @ 509 ﬂP‘#ﬂ}ﬂ?
- W g e Bl
TALE,



a o
Let’s practice ﬁgﬂ 'E'Ll I:I' %

1. CHSS UTS0IA U LQULICH X2 20| BS0| SO0/ O3S 0t MUAIR,

The following is what happened at the workshop. Complete the sentences with the words in the box. See the example.

v o3s S LbsLh wol5tet
g B
Al==0ll 3|AH Q3E off CiALELICH HIS0M ARH0| 22 HES

USHOF ot= O|RE LSS L O30 f2l= =22 (1)
123 Z22 X AEET 22 HES US = Us YHE (2)

HAS 9D LA AIST 528 YO A MOIURSHC, HZE0 TS BIA

MErS ) 01/7t O EC0I8l 24 2&Lct
) '
=2Y(X)
2.0 ET NS} 20| CHEHE DHSO0] BAAIR. 2090 £29(0)

Make dialogs. See the example below. g

Q Y52 FQUK M7
DEQ

[ EE
299 B E QYU FAICH &

ez 1 Y(x)

2) "3' 223410 @)
8 i ]

& team  BAFBusan 04, T2l 2| 4’5



@ EZDet 20| Faf 2HAL,

Let’s talk like the example.

v gim] 1. &4 2

o
1
w
el
ne

ToH | IpeipdEER

Hiek _@ 7|%

(7] Ol SZ B0 2 EFD 747|2 Q2

| “Dighs
=1 O %
= HE MSEE
7
w

=M.

HAS B 4727

= WA U 7RIS ERD 20T B4

He.

b a

2 ﬁ Ol HALON B 27[2 H0/R? |

d

[ A=

32 ﬁ Oft U E0IA B 8|2 HOR?

g d

e HIZ % HI2 A= B|ELA 3120 2 I membership resort B[} barbecue

b



1. {3&0UAN FAS L7
What are they doing at the workshop?

[ wzrn uzs —

T AlE2| CHEfRILICE OHES =10 HR20 EoldAIL,
Here is a conversation between two people. Listen and answer the questions.
(1) O ¥3& TA=2 K| = 2 HridUs?

Where is not a suitable place for this workshop?

@ =8¢t 2 @ fgst X @37t H=2 2

(2) S2 WS 228 O, =T X ot L.

Put © ifthe following statement is correct and X if it's wrong,
D YIB0| 7 AEHAS T & QALICH ( )
© AIBUMLE Y=0| E20| T 0)0P7|E S 2 UsLICH ( )

3. C{HE2 OCIZ Y3ES 71 HELT? YFE0M TS sl &L 256t
OlOF7|aH H&A|L.
Where do you want to go to the workshop? What would you like to do in the workshop? Take a note and talk
about it.

— H|ot

o A A/ HiC}
=3

. 712+ 55 924 / 28t 3
=3 st= 49/ S4
= |

AL B in-house meeting

SIAF LY B YBH= AIEEO) SIAb R O[QI0) CHUSH ALY ZRIS © f=01 KHZE OHLEPA 742 K, 2
7t FYAIE ST} SOMA U HY 4 ACLTIR, HO7H 22 ARETIE EM 2, AEX E%L s
29, 201 29 5 Of2 K| ZUS VIS RS OE ALY ra* S AEL?

People whe work together in the company organize a variety of in-house meetings in addition to the
company’s work and meet often being on friendly terms with cne another. As their relationships get closer,
teamwork improves and they can work better, They form a variety of meetings with those who share
hiobbies, such as a beook club, sports club, movie club, music club, etc, What kind of in-house meetings do
you want to have?

Gl place 04, TIZ) 24 §




0 4 CHR! 2|

‘é’lﬁ%ﬁ Aims of the Lesson
ARzt ThE Abete] 7ol ol 2 4
At

To talk about your own character and others’

characters.

M= 235N 5 M=

i N ]
=3[0

I'm passive, but Huong is active.

- G2{2 2 &Zo| ofESLMN?

What is your personality?

» S|AL ARZIS 2 EZo| ofEELIINR

How are the personalities of your coworkers?

s HIZ 2l HIZ &= B|ELU A 320 2

M7

personah‘ty

I'IJEO!'Ef

be meticulous

upgor

be introverted

ATt
be careless

2=40|C}
be passive

SlgrHo|ct

be outgoing

-(Q)/=H|

SAL HEAL "EAHOICY HO| &
OIM 9lof LI 3} o L§So| f
ZEEE LIEHHC

Attached to a verb, adjective,
or'noun + 0|C} to indicate that

the preceding and the latter are
contrasted.

- L 7L Eed A Al

- A A= vle) 2| 39 A
e} @oka

- A= ol F 2.0 4= 2
thelde SjAbel vofe,
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1. OS2 g7 B3 GSIYLICH R0 Z0| 220 S0Z 0SS R0t MHAR,

The followings are character-related words. Complete the sentences with the words in the box. See the example.

Bcict v BBsit =l elg(o|ct

IEEY 111101

oix|@ Haide BEEICH | T Zae of Alzto| Bto] ZELich

O L U

(1) Z710] M= e UE I AE O] LT
(2) OFL} =2 . 1EiA EX QU= AE E0rUOL
(3) A==t =22 . LA BIAU| OF= ALE0] TegUC,

v U U

2. 0SS 20 002t 20| HHaE TE 2HAL,

Make dialogs. See the example below.

! B BIAF AIRISE A70] L7
2j0f Ch2l LAl
0[a14 THa= QIEHE0|L.

V' 20} CH2l= LiAdEo|CH
(1) d=X| 22 A3Ho0|ct
(2) OfLt FA2 MoIUCH

(3) X2#0] AFF2 BE0IC

AN (BT mistake 04. el 27 @9)



R EXhe} 20| Hal| 2HML,

Let’s talk like the example.

5
QIERt 04T Ul Al 012

U2 THO|UKIZH HZ0| Hatk S0, s0f %2 Holct
= )

1227 F40| OEA 27

=t
ey | BFHolct
K= 23500
Q=3 0L HIHo0L,

02l
che

wre| shch

20| oj|2? | EEl

ojsis | ok2o| Yct

SXI2t OLet 01/7} Hatk
ZSOIE AIZIS 20| I £ QU0iR ol | o ziRstcr

bl = ?

7 0/t 0123 OiCI2 7He? |

S0 DI W7HSH EZER? |

CHI? 2 Rkt 2 P
Hicts =0 C
sug | UHhe Foteit { 0l/7 HatA OF& 2 MR, @
Lixt 2o ”
o | HICHS QF ZokSICH | g
= 2 ® o0 ¥ HICIE 7pH 047 |

SRR 4

b
60) 1= ol vl e bimUL 83012 e

FES| sowly



1. GHE2 AL ATRS 20| FE H0| AASHIR? 2 BSASHN?

Have you ever been tough because of company people? Why?

2. Ch2 AT AL 28 21 Z20)| ZatAle,

Read the consultation notice board and answer the questions.

— =%

19 YEPAE HER EY PHERLL SF2E 5Pl o E g8 @

IEEN M= g20| LS CHE ofEA slH ES7127
AT psyTes HNY 20K¢-09-07 2245

M= SHSAMO| CU= SATERUCE P2 A9 BAHY M= 440) 4T UL JEd2
ot M= & B BYULICL 3|9 A2 At =i e B0 UCE T2 KB 3|90 A

—e

Z3| 170

|3 l'lé“e!% ZE0I1 WEAH0ICIM EX 7{0] OtN= X2 Z0[6H=H Mz A H00IM £

MRS 20| & DS AS Z0HAUCE BJAF U2 SISXIT MOIQEUCE 22t 2HEEDe] 2AP
O M AE2IAT BEUCE O3 51 SE01R7

P=0 imi12 200-06-07 22,57

1SR O, M= HEYtl= BRI MHSE 25 440| 2242,
shinnj 20¢x-09-07 2514
ol

A2 dAT LEX] 9012, 12| H2E 8lH 4=+5X| 1 &

I-‘S‘I'

SRR

HJIO

(1) O ArEe] A2 FAYLIN?

What is this person worried about?

@ ALALR} Mam CHELICH

@ EA AlES0| 2= E0| DiAUCL
Q &I OEHH AEH AT BELT

(2) 42 L8 ZoB O, T2 X oAl

BT

Put O if the following statement is correct and X if it's wrong,

@ O] ATEE S&T Y2 24 H0[ 'L ( )
@ 0| AtEZ I YE D §20| HIohA AERAT} EE GIELICE ( )

3. 02z d72| FEdt HEE Hall 2EAL.

What are your strengths and weaknesses?

= )

512 LIt getangry  AJA} boss 0. tie! 2 (1)



Vocabulary and Expressions

2 & ABHAQ,

% [1~5] & 2 220 L2

[1~5] Choose the appropriate answers and fill in the blanks

I0AH| M=

/5 dEaL

1
@ KA 2 EA
2. RS0 =20 o gLt
@) ZH6HoF
@ AMAES MOF
@ HIZ0| S™oF
3. A Y MEHL et 40| HUiR?
B: XK= BRI =0 S M=
@ MIZEHA
@ BEohAM
@ 8= LM

HEA SHXIQ?

A: AR FHRO| 2H17 A=

B: LY 32| M 2HI=E
@ HLFAICH

@ =oAL
H2H ofg st

o)

@ 7H42 WEAh

@ HIME AT
Q@ HIF0 SO| BEUH

&32 HIZ HHR BIZ A B[ZLA 3H20] 2

@ Xy

=0l

23027

@ SAIRAICE



255l SAICH - 342t

Let’s Review It « Terms 3~4

@ B Grammar

% [6~9] HE 2 RE0| YHE HE 12HAR,
[6~%] Choose the appropriate answers and fill in the blanks.

6. A: QY| 2|2S 47IR?

B: 22 1A/ 227} STt 2197} ZRAICY,

@ =LA
@ BL=6|
@ 241 LM

7. A: 0] O|HIES 2|0 CHa|E/H 2E7MK?

B: 0ILIQ. 210} Yl 0121 CHRIEH HUAMIL.
QR
@ st
3 #0|
8. A: {3t 2 20| JAUSLAN?

9. A LS F0| 5 M2 DROIE Ml 2% STERUN
B

2 M= OOIZ Mz B710IM 25 ¢

gz2 (53



10. C}2S =7 oMt [Jote aAL|Q.
Listen and choose the right answer.
@ ZACA Crsa{n gt
@ HIE 2HIZE F4ME 4 A&
@ LoD LI HTAZ S2|ASLCH

* M~12] Cha3 =1 220 HohdAl2.

[11~12] Listen and answer the questions. RERCK 1)

1. Ofxje] 28 DEYAR.
What is that woman's concern?
@ Yg I A4E gL
@ AL HO| S EsUC
@ SIAN| CHALE A X] RsSULCL

12. S2 N 22 Z1S D2MAL,

What is true?

@ OAl= E&8 J48UHH
@ OfRh= CH2Y %t H40| CHELT.
@ O{AH= OfEY TS ot UASLIC,

B4 = sl Bl Lk BEUR B0 2



S&3) BAICH - 342t | K

Let’s Review It « Terms 3~4

S VA Reading

13, LSS & A1 8L LE AE I2HAIR,
Read carefully. What is false?

AR HIES XA 212 21

108 12U(") ~ 108 22(=H

=Nt AlZt 5t 9|
1024 12U() 16:00 HIEY XAt E&
16:40 X9 7H 3|
9:30 ME HAKE &2
108 22(3h 12:00 el AAL
14:00 AXE 7N pE 20

@ APEH2 HES 12] 28 SOt ZHIALCL
@ AFEHE2 108 12 =0 4S5 0|05 & AU,
@ AHEEH2 MME Y 28 H0E BT LA SARN 2 gut

% [14~15] THEE A1 S 300 EHEhAIL,

[14~15] Read the following and answer the questions.

| FAOA LHARE NS JHY ZEMES ASELIG. J2HM M AFRSE Alds
SR 19} 282 AFE S ZeULl FRUNE LHF APE LRSS A8 UBE
EAYSELL (| O ) ERUNE BEX AIRED 20| SHE FEUCEL SIAF 210 HOlIA
FAAIEED €5 010172 SHATH 2IAIOAECH OHYSt OZiE Lis 4 UAAREULD,

T

/ = L L)
14. 30 SHZ Y52 LS D2HAL,
Choose the appropriate word to go in the blank 3.

@ 28|11 @ 1™

&
lJ
s
>
]

15. 0| 29| LIS} 22 S T2HAQ,
What Is true?
@ ofF U FAEE FFLCL
@ HAIGUAM LHE B2HES FH|giLIC
@ SIAF HOllX &5 OIOP|S ot As £&0] 2 UL

g2 (55



In-House Communication

8IS ZH Aims of the Lesson

B4 A S 2w &4 At

To read and write notices.

ALl 25 EAI5E| HRRILICH

We hope everyone will attend this event.

» G222 5lAle] Z2% LS oEH SRALI?

How do you check out important events of your company?

» HA[EOl= offH LiE0] USLIN

What's on the bulletin boarel?

g HIZ B9 HIZ M BZLA 3201 2

AL A LS

SK| At
notice

O A

matters that require attention

it

announce

(Kt=S) S|t
post

0[&(ofCh

use

H(sHoh
referto

=7| Hi2fCt

SA0| 20M ot A
g, SIS LIEHIC:
Attached to a verb to indicate a hope
or desire of the person speaking.

- 22 YAt #5sl7| vl2lR,

- 325 Aejell ghe} FAP| digiuct

- AAlge A FR] Al Eelsp|
Higfch



N NN

1. OS2 3X| 2 O#LICH C2et Z0] 2E0| S0iZ o3I Fot MHAL,

Here are notice-related vecabularies. Complete the sentences with the words in the box. See the example.

v 22|ct =e[Ct OlEstet &ustet

_ N
\ HEEE EE
Al 28 R2.

SIAF AN BIANS] SR 2E
oElulet

| DY OrRE § ZeR.

v/

L

./

AiE 2lAL SHOIX HHF

AMEE
2. CH2S ol (00 o 20| [H3tE THE0] HAAR,
Connect the sentences and make dialogs. See the example.
-
3 o BX A OfCIOM ZOIBITE | s . 7IAmE FToiC)
-
(1) 21Mi= AMTEK] HIESHC L. «  LHZEX] LT
(2) F7F MHEES AM7EX| SHOF SHCH £ « 10 F7X| £PHSICE
(3) 29 =HIS ¥ W 2| AlE0| Tt | » « 3|90 MG AlES &sITt
-
5 Y ZX| A oJTioM RIS
» HAIRE HT517] HEgtLICH g

f

HIAE bulletin board 05, AU 2|AL2 5 @




@ EXet 20| Taf 2HAL,

Let’s talk like the example.

Ob2l0f L5 FfAfshoF B

oesaz ¥ |

- S8 Yol glom

R AR 2L

10AI7EX| 22017] BEBfLICY,

SE Hidiict
«1ONTIFM 2ol

siom o ¥
« 5101 38) Holl olieFSHCH
- BIoIJoll SIS Bl

or
=

V7 B|QAS 0|2 I F9 ALBI0| ABUIN

| A

\

g CHE 20/ AFBI0 T &L |

a
L >

€7 day|oE= o 4 QaUp ]

euzjole) 1t ®

[l

K 'H“:'-_}'—g* 0|—g—$ FAlch

O1%| 0128 4 UBLI7N? |

« LHQEE] o RSHAICH

a
a

ag  #
-3 R B

HINTHollr EHOISHCH
<A I} YR
Imlolx g st

B8) H1= vl ol 2 BimU L m0{ 2

g QY8 UNS K0 SOIEH & QLI

— A

S AP e UHT HAMO AL ]

r .
-
= &




1. 25 3AF AMECE OE LHEO| AUSHIF? A LIZS 0[0F7 (6l 2HAIL.

What was on the company bulletin board today? Talk about it.

2, CH2E MSAIE2| -7I8A00 thet ARILICE Sl S350 EotiAR,

The following is about the founding ceremony of Seoul Feod. Read and answer the questions.

HEAE

SETIEA0M 0i21=E =CHELICH

Si2l Of2f, ORISHILIF
CHS 00l 22| SlAlel SHR7IEA0] RELICEH 25
7S A0l 24fst7| BHELICH O HE7IEMol:
CRISH #AlRl BUS 0| FHIELICH 227 I
MM o 20| Ealel FHM FASLICH Kbxst
LHS2 15 A0l SH5H7] HIZHLIC »

O™ A7EA0A gRELICH .
:

- ik 48 2024(S)
- HA08 AR

CHE S| AJSE ERIBE7IN \

(1) 0] 22 F& LH=2UIR
What isthis article about?
: @ dAIE THIE AT E 28

@ SAr U
(2) g2 U= €23 O, CI2H X slHA|2.
Put O if the following statement is correct and X if it's wrong.
@ HE7E42 15 22 A0IA B ( )
@ FE7 540N BHE BHCH ( )
3. (=2 2|Al] OFRral, /3& 5 SEE AL CHe SX| AE M BEEHAL,

Post a notice about your company’s special occasion such as a picnic, workshop, etc..

of HH2S ZCiECH

7|4 founding ceremony  ZOHGICH celebrate | 'S} date 2V auditorium 05, MU eA A8 “



SlADIX

- =

A oIALE ARESHo] YAl EE 8 4
At

To communicate using an in-house messenger.,

| Part 2

LE 2l2l= S8 22 Hu2

Tomorrow's meeting will end early.

» G212 2 SIAMOIA O|HYUS Xt HHLI7I?
Do you frequently send e-mail at work?

» 24 AlEtS3t ofH Wo = YT oo |E
LI7K?

How do you talk with people in your department about work?

{600 812 Hi%) HIE 25 HZUA 320 2

ol I Vocabulary and
I Al Expressions

&8 o3

ALY DX

in-house messenger

CHEH(otCH)
have a talk
SZ(510H
sign up
H& (o]
send
A2|(stoh

organize

st

exchange

B 29 camma

-(Q)= AW

SALL HEAL HO E0IM 26t
= AO| £ LIEHHC

G5 ERC T —)

Attached to a verb or adjective to
indicate the speaker's guess.

-39 WE 950#—3«-} %‘— o
Hollg,
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1. TS 2 HiAX 2 OFLICE ER0e Z0] ZE0| S0 of3IE ot MHA|2,

Here are messenger-related expressions. Complete the sentences. Sea the example.

prbauuupetetg

Xl SMOIM SEET AL DAXZ i3t FoRFELIct
(1) SIALA] AR BIAXIS ARSI HlHX
(2) K= OfLt =2 A= QA=
(3) 0N 2 HEEH EM THUS Al T &K=

2. O3S Sz EX0he} 20| tists s BHAR.

Connect the sentences and make dialogs. See the example.

; 25 M&E O Zeloltt p »  LHYS (o7t ¢t Falth ]
3 (1) WY 2|27t Heltt | f o S L7 LHE7IX] S EIEtJ
() 25 7 Mol g0l 20t | - + PEHMAE AMGINK L |
(3) SHHMA 3|20 At | - 0| LHUZ ort |

2y, @5 MBS O H2Eme?
5 OHIQ. Q=S HpmLT} UMK = & HolL.

v U

05, At 2lA2E (61



@ EEe} 20| Hafl 2HAL.

Let’s talk like the example.

izt STH +i -

Q Zol OHAGINR7 K2 HHEAIR?
Le! B10)7}h £

=L

FIII

_‘_

ugore, 2 goole? (€Y

wisar

Q LI 5|07} 7 BLR?

E
:

CHE sffa Q%! BLICH
3 OfHL. LIZ slo= 93 2 AoL. g
= =
1. CHE} &HTH +‘ -i
ﬁ e 2= % LHY 0 FA|E[0] ‘
N = A r%() o 9_
HEOIR, F& L0|KR? g RS0l ol et

o ? LFM= B0l 24
g o * orrt

o, ()

\ .

2z
Q LIS R A2 Hpt M R? #
HHOIQ. P& Yo|HR? g

712 MEsHE

Ao
i}

L o

L
B

B K] 2oLt
MR

4 7 ch
. . ®

L

e} A & -8
A, QHE5HMIR7? A2 HiMR? | # e—— A
P =T £EASIAIL
HHOIR, P2 U0|HR? ‘% EAISHAICE J
@ : CHE * L2 20| QIO A|C}
0 |'?
LS. - g

0 HIZ HiR] B AL BTUA 3h304 2



1. GHEE2 Al HIMAE ALSSH 2ASLIT? SR HIMME ARSEL7R?

Have you used in-house messenger? When do you use the Messenger?

2. CHS Al HIAA THetE 60 2R HESHIAI2.

Read the conversation on in-house messenger and answer the questions.

=9 M|, X2 HHHe?
ojue, MEOIL. e g
@ m=ns AsE i Aol 122 =
a0
@ ol 227 szepIR 63 =
%m 22| HMEZ X2 @A5| =1 902, |§‘
4, @ziole, Totele, () =
i 2R, () 'Q

\,

(1) & AlH2 232 Olop (ot AsLI?
What are they talking about?
@ DZHE HENE ME BEA|
@ SRHE AYME U=t Y
L]

@ Z=ME H=ME MSth= SR

(2) ¢i2 Ui 223 O, C2H X oA 2.

Put O if the following statement is correct and X if it's wrong.
@ Z2HE HEME 012 Z7HK| KiEat0F gLt ( )
@ 2 M2 EA= X2 ZREME HEME ST st ( )

3. 3lAt S=o Of2fiE2 HR0| sl MlAIX CHetS M EHAIL,

Use instant message about your work with your colleague.

Tip l
AL WA Ol E 1n-house messenger etiquett !

Al HRIEE AR O  7IXE F281E [ ol MitME 28 = JEUHL 92, 3l9, &3 58=
HAKE 08 + Qs 8% A 4, O 8F FU 22 BAZ CIE AEN? b2 HElE geFH
SO Eor Meixiy 2 W JHeiete 02l 2 ol A0 S5LICE A/] 22t ofil HAX| &Z E1 L]
H OF EULE "LARILICEL FAl AAR S A2, S OIX oIk Tt 2% “AS F= 20| S5LLL

There are a few things to keep in mind when using In-house instant messenger. If you can’t see your
rressenger by going outside, meetings, or talking on the phone, it's 2 good idea 1o let others know your
status with a marker such as ‘Away, Busy” It’s also a good idea to simply finish when you're done like a phone.

Do nat close message window after saying only what you want fo say. You should make them feel you're
done with some words such as “Thank you. Enjoy your lunch meal”

BIH howto MEELChhunry T7|=2 Yourewslcome. 05, MU 2|A 25 e
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Personnel Management

815 S Aims of the Lesson

= [=Es g
Agelo g Al Akilel Sxof el Sy el
D
To explain your goal as an office worker, h—_ﬁ (élrl:r)

make an effort

S5t

. get a promotion
I}a%% E}j I -?-I 3“*1 iaﬂ! ﬂg LI Er ..... égﬂlgg[‘r .....................................
| tried to get the certificate. Tnake acareer

seig 7|9r)
develop ability

get certified

- 71 UEHM

SAE FHol 20A %9 Ligo| H
9| Ljeo| EX0| SIS LIEHHCE
Attached to a verb to indicate that

the preceding content is intendec
for later content.

- & AP fldlN =& 5 Jlole

- S2 L83} Z2 Aol v E SHHAIL. - ol ul$7| SloiM el

Listen and Mark " what is true? S ghol g,
: . - AR o} 5 !
| 252 Ofxe] ML, e ot

OlXl= 20| HsU

e HIS iR HIE A= BIZLA 3120 2
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1. OS2 A7 A% 23 Og|iLict, 20 e 20| BE S0Z 0135 20t MEAIR,

Here are self-improvement related expressions. Complete the sentences with the words in the box. See the example.

19991 29911

E50 Zo|Lk M= = s|Atell QAT AdsLICE :LEHM chata e
et AU olzHlo|[ES To| M WEZ MeHELICH
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Connect the sentences and make dialogs. See the example.
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Let’s talk like the example.
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1. GHE2 FEe 20| TS 5l F5HIN &S 0127 #siM O 25 ot USLI?

What do you want to do after you get a job? What kind of efforts are you making to achieve your dream?

2. O+2S S HE0| EohdAL,

Read and answer the questions.
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(1) O] AH3O| X|Z oI U= BAL 252 FAYLIN?
What are this person’s department and position?
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(2) g2 Ui 228 O, CI=H X slA|2.
Put O if the following statement is correct and X if it's wrong.
@ 0| A2 BH0{ S 7(97| leh ASARO LUAIMEUL, ( )
@ O] ArE2 I-Y0| E7|1Z Bi2fd UL ( )

3. Aele 2 SHELF F0| JAFLI7 24 0IFHH ofFA slof §L71? t22e| A=S
Zoll Z2HAL,
Do you have any goal or dream as an office worker? What do you have to do to achieve it? Talk about your plan.
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To understand the situation of personnel
transfers and talk about the preparation for it,

HIEE XIAHHAM 2570

=I5 LICH

| am being transferred to the Vietnam branch.

- S2 L8R} Z2 Aol v E SHAI2.

Listen and mark & what is true?

Track12
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C HXIREOX = 22 2M ARSI
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appointment

2IAI0IS
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environment

ol KA

overseas branch

A (ofrh)
adapt

fof(siC)

figure out

- A =t

SAE O 2O FE0I- S8

HSIE LIEHACE

Attached to a verb to indicate a
change in situation or action.
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Here are personnel transfer-related words. Complete the sentences with the words in the box. See the example.
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Make dialogs. See the example below.
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Let’s talk like the example.
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What preparation do you need if you have been transferred to another branch ordepartment?

2. 5 AR tiEfRILIL) ChE2E E12 2R HolAIR,

It's a conversation betweentwo people. Listen and answerthe questions.

(1) F7F =70l TEtE dASU?

Who called whom?

HEHAE | EA H 0130] 2+

THstE #2 A KIAE 3 ZY

(2) E2 U2 ZOH O, TIEH X otdAl2.
Put O if the following statement is correct and X if it's wrong,
O 2 N2 OS H5E EAA Lok HASLICL ( )
@ HEH XAIHA = 2ES0| S0 GHE AtEEILICL ( )

3. 0{2120] 52| XAtZ LZITHE OC]2 710 WEUAF? siel XIALZ Lt I ZH|sHOF &
AE Qe =AUz HaE A Hofl HEAL,
Where do you want to go if you work for an overseas branch? Write down things you need to prepare when you
go to an overseas branch in order of importance and talk about them.
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(2) ZH| AFE = YT E IpABHC ( )
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Vocabulary and Expressions

% [1~5] HE £l 220 U2 s D2LA L,

[1~5] Choose the appropriate answers and fill in the blanks.
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2.

3.

4.
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@ CAOIE @ S| AL @ SHL| XIAL

HXF A HAS| PlohM ARE AHESS

@ FaLict
@ YA
@ HaiaUo

A: 5 M, OFR2 ARY & 2L Sai7
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Let’s Review It « Terms 5-6

WS R N2YAIQ.

S [6”9] %g Zl -'?—-E-O'" Oéx-_ o — i LN

[6~9] Choose the appropriate answers and fill inthe blanks.
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10. CIES &1 Y52 UESE IE2HAL,
Listen and choose the right answer.
@ A== &[5k | B,
@ 18 220 A BFeAIL
@ 2/9| 32 Tl GI2foH0F ZLCY.

% [11~12] 28 210 20| goRAIL.

[11~12] Listen and answer the quastions. HEsckits

M. 5 A2 0 Ush 2ot A=K DEHAL,

Choose what they are talking about.
@ AR7|EY sHA}
@ 2 3¢S & A
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2. 52 W& 22 S DEMHAR,
What is true?
FAIE2 25 39S & 4L
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Let’s Review It « Terms 5-
VA Reading
13. CIF3S & 911 I8N CIE A3 1EHAL,
Listen carefully. What is false?
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% [14~15] CHE8 H1! S0 EHolalAlR,
[14~15] Read and answer the questions.
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Choose whera to put the following sentence.
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What is true?
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To talk about salary and how to manage the
salary.

50| = K| 20tLt HoIL?

How long has it been since yoursalary was increased?

=LERE

» 22%401| chet LHRIL|77L?
What is it about?

- 9 Afate| e gnflLR

What is the salary of the person above?

@ HIZ 2l HIZ 4= B|ELA 3h20f 2

Hl4A

bonus

A

+g
extra pay
it
annual salary
zg

starting salary

increase

X201 =it

-(@) x|

SAL HOl E0|M OH HES o
09 £& LIETUWC} ~ ()L
X" Hols (AlIZHO]) =Tk, X|LCY,
S=L HEFY SPlLEAPLEE
Attached to a verb to indicate the
meaning of 'after doing something’
After () w X|'are verbs such as '(A|
o= O, XILIC, S 20, "o,
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Here are salary-related words. Complete the sentences with the words in the box. See the example.

s HU{A ' OIAtE|C) X|ZECH

99991 99991

A THS THE 230 QSR
B: 12127 BY S0,
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(1) A: 02 &2 2 ?
B: 15%0] L2,
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3 B: OIER7I ME0| LI
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(3) A: AXICHO| BIA 0|/7} YO|L} L7

B: & HS0I0A ML X 0L,

2.CH2E 21 1009t 20| tists TS0 2L,

Make dialogs. See the example below.
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Let’s talk like the example.
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1. (222 223 UH oT|o 7HY ROl SH7R?

Where do you spend the most when you get paid?

2. CHE AAIEE 8 Z20| EokAlR.

Read the message board and answerthe questions.
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Jd4e MSEUC. ES Ee

PU=a k27 20XX-D§-13 2257
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(1) O] AFE2 318 L1 Ao gL
What does this person want to know?

@ &2 2= LY @ESZo=4E

(2) g2 U= 22 A8 124AL,
What is true?

@ 0] Algh2 Z2¢t X 6708 faUch
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3. (IH=Z2 O] AIFHUA & ES ol =11 NSHN? H2E M BEHAIL,

What would you like to say to this person? Write a comment.
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To talk about the company's employee
welfare, =1 A
LA

' cafeteria
Part2 I xp7| e

self-improvement

7 ZF HAX IQ. I |M|' ZF |-O
-Io A% H|E0| H[E A Z0i2 e R

I think health check costs would be expensive. housing fund

XI#(5HED

support

XﬂJ-EOHZH

provide

SALL; SHEAL "HAOICE Hol
E0A YdH= 20| S8H43t
HHYS LIEHHC

Attached to a verb, adjective or'noun
+ 0|}’ to indicate what the speaker
is saying is an uncertain judgement.

« G2 S|Aloll= AlF0| USLITI? - 9% a7} we] 8 A ol
Does your company have a cafeteria? -tjol2 A= wh2eks AE A

» Gi2fE E|ALIIM AFEEE 2ol ol F= Aoll= zoia,
2010 Q&L|II? 3 felde A2 A ol
What does your company do foremployees? 2oig,

B0) 1= sl vl s BEUA 3201 2
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Here are employee welfare-related vocabularies. Complete the sentences with the words in the box. See the example.

v =E a2 71g a7l Xp7| Al TUAE

| 1 11111
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2. CH3S st (e} Z0| HEEE 2HE0 BHAR,

Connect the sentences and make dialogs. See the example.
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Let’s talk like the example.

S M s 27t E0HQ?

SAL HIE
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1. OHE 3|Ae] F2 H2 AN

What are the good points of your company?

2. 5 AlEe| tHatILICE CHEE 10 HE20 HolAI2.

It's a conversation between two people. Listen and answerthe questions.

(1) GXt= SR 2 SHSLI?

Why did the woman come to the General Affairs Team?
@ 7|=ALE I EoH sl
@ F7t MHME Lh=1 gLt
@ g 482 Y23 FSLLL,

(2) S2 WS Z2H O, TI2H X ottlAIL.

Put Q if the following statement is correct and X if it's wrong,
@ GRp= EIAF 7[SA0A LT ( )
@ 0iXt= =0] 2t Z0pA 228 HO| UFUL. ( )

3. BIAA O2I201A o AS 8l =8 AU 1 Olfs FXYUZ? TS0l M=
of1l O[OF7 ol H&IA|2,

What do you want your company to do for you? What is the reason? Take notes and talk about them.

y Mol g Y
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Customer Counselling

H 0"-?—' I'J*[ H.ié Vf_.l(::-]'l_‘}llb'l'y and

Expressions

= L) -
aAel B AtehE B3 ded 2l warranty period
To listen to cust ine_-rcr_.-n“.plairwts and consult. : ;
aboutit, A‘IUIﬁ wE_i
customerservice center
Part 1 mizieisy
- exchange
e, |.|__I. AHGH = I = I-O '
Eu —|_1(:)A.!‘~I_'I EEJ-L 27 |Ct
You do not know how hard | have been. entrust

HE TR

. give inconvenience
MElA MIE @ +2i(steh
repair

o .
@ =] Gramimal

oL} - (L) /=X 220}

ZAL SEAL ‘HAHOICH So| 2
D-l"ki S L.IEO ?}x:-i' TH ﬁ?_[[r

Attached to a verb, adjective or'noun
+ 0|C} to be used foremphasizing it.

- A o4l 57} 2ojt upexy

228
o = v
" OI AI'E|:'|}: 2I'I Ol"R"O" %!.QL'IJ)I'? Y A= 277} Loju Bex
Why did this person come hera? 229
» O|R0M= R LS =LIA? - 23 3lizo] 9P Zoju 70|
What do they do at this place? T27 2212,

ﬁl HIZ bH$| HIZ &= HIEL A 3150 2
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1. CHSS 17 ST At 45IQILICY, (52 20| LE0| SOIZ i3IS S0t MANIR,

The following is a situation of consultation fer customer inconvenience. Complete the sentences with the words

inthe box. See the example.

HE 7|2t V' M| A Mg Wkt +2|2 B7|ct

5 A O M S0 M3P7F TRO| LA X2 EXR Muls JIE of 2019,

B: 12197 A X| Q2 O SIYOLINE M HIESE () ?

A OILIR. ) Ol 14 LOIA ES O LIT DA 2 UK. 22hA
3)

B: HHL.

2. OEE 24 002} 20| T3S TEt HEHAR,

Make dialogs. See the example below.

i BRYSkCH
B Q M2 £ =ES0| T8 LA
: QAOjL} TSR] 8L,
SHE 7N S8 S FLL %
2| 1N S2| &t

. | Ty |
5 o #@=s gsolct |J
2 | @ =g RZ0] WLt
i Euct [J

(
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Let’s talk like the example.

OA M2, 3 =2 2727

ME 4 F0 M3F TF LA 940{2, S0y M7 08 L
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FL HB17} OF EhA SRR
oiLt SR S22,
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HEHO| L5 = HoliAl
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1. MH|A HE{O A= O LS B o 2 5t 0]0f7[3l ZHML,

What does the service center do? Mark « and talk about them.

""" L HE L HIE wet Lo AR 29

2. = AlEQ| CHetRiLICE OHes E1 ZEN ZotdAle,

It's a conversation between two people. Listen and answer the questions.

(1) =Xk= off O|=0l ZEUMN?

Why did the man come here?
O g0 H3E AX[BL0

@ JOi ©stE wetstEid
@ FU &=kE M2 Afsi

Track17

(2) 2 LIS 2O O, CHER X SHIAIL.
Put O if the following statement is correct and X if it's wrong,
@ "Xtz RO HE7E OF LA OfF SHISLICE ( )
@ HAH= 021 FAS MT B MEHE RQHALICE ( )

3. (22 U2| ZHIE =okE 0| ASUIF FAS ZRAFASLITN? 010F7[6H 2HAIR,

Have you ever helped a customer solve a problem? What did you help? Talk about it.

. EM AS 20 B8 Respond to complaint

SIAH A O7H0| Ol2f20|H SWet EE 0/0p7|& mf O 22 & + USVQ? Ui 1740 a’”ﬂ*% st

1 STYT-E X0} 6= HFO0IE 0f, 2R L2? B2 @E’“'ﬁlﬂio L0 TEMIR? 2 SHOMAN0IR. % &

. 2 O3 AFEE o= USLICE E5F UM0| SHGI0| THaH AHtS &{0F Sh= MEH0|H ZAFILICE e .Tlx-’! =
| ST T2, R7I00 7|CH A, WA 4861 L-IE? St ZE Bl 52 ASE + USLCL

What can you say when a customer tells you samething uncamfortable? If you have to acknowledge a

custorner’s discornfort, you can make a quick response saying 'sh, did you? It must have been hard. Or 'Oh,

you must have been really uncomfortable” Also, if you need to apologize far the inconvenience, you should
say, "We are very sorry. We'll fix it soon Or 'Please wait a minute. We'll fix that guickly’

( Qﬁ'(sl‘ﬂﬂ refunid ZAXICE run 08, T2 At o



o] HiZo=

Q—E-n Aims of the Lesson

HE vl Rzl dish deE 4
i}

To consult about product related inquiries,

=0] SO071E 2F ZUCt

No water should enter this product.

_Ig e

« 21 %= Aol v E SHAIR.

Listen and mark & correct answer.

Track 18

SAlE 24 A HEH dettsln
HAle LA FUFHN SestsUC

@ HIZ 2l HIZ &= B|=LA 320 2

2ol

AEY

instructions

=
oHEH
counselor

make inquiries

348wt
accept

ZFel(etch

take notice

= (ot
charge

-(2)H of Zir}

SAt Tl BOA O HFE =4
SHS LIEfHCE

Attached to a verb to indicate that
the action is prohibited.

- AF Eojidd] Sofvid o Eucy,
- 3 EZske @ Azl ot
Euct
vel7} obE o) 2 ok o ot
Eudt
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1. OS2 M=t J4ES € 0 2ot HSJUCH TR 20| 250 S0Z oE ot

MAAL,
Here isthe vocabulary required forthe helpline. Complete the sentences with the words inthe box. See the
example.

v AEH ArEH =25t H4S 2t

TZ AISTAOIA DO M3IE ¥ 0SS SHEE Ale EHD e

MZ0] 2 LAl oot HX] LHARO] (1) 121 HES M= YES

=M (2) M= (3) T ZeEUmL.

2. 08 20 00t 20| tHaE TS BEHAL.

Make dialogs. See the example below.

€D ﬁ 2RO CHS 20| 2olsis S

Ot R, Aol CHS =0 E2(5HH ot ELICt Q
S23 Lot XIF EOEML.

P — = =
| RIRO O Z0f 2olsict 93t Q0|7 X2 S0J2C}

| (1) 95 220 HALS Wit | 230j= MY} UCH

| @) o F71x| 7t NBAIS vt | Q7R Lt T
| (3) 0] BRHMEE 30| YYBICt 92| =4 Yolct

. e =4




@ EXhe} 20| Haf| 2HML,

Let’s talk like the example.

€ Y 2o CERe? ;E%%‘HO%ENI
3 ' r—l'

0| LESS 110250 Z0IE FUH?

b

Ol 2, 110ZE0| £2H 2t ELICt

4|, & LAEL.

1. § &4 B 5o cane) }
| OL/HE =L
ﬁ oL,
| TEO| AU
Uy, = amsU
= ol S ES
2. ﬁ T2 AL B =9 CEne? | ofolSol kct

[ o/ g g

[ H, & UHaL

ol Eriloll STHE
3. 3012 et 3 27 yeuon B T cEne? |

OH/0 & EU7?

f

b, & s &

\

@ HIZ ¥ HIE A= B|=LUA 3120 2 =E volt  ZLChputin - FO0| paper



1. GHE2 U743} SEe HO| USLIN? FA0| CHell 0107 [RMELI7I? 01073 HAML.

Have you ever consulted a customer? What did you talk about? Say about it.

2. [H2 O|HIYS S R0 EoluAle,
Read this email and answer the questions.

4 B
die A olola L
sl apE MIBTRAfHIA HIE] s
x= EE ABY 2|
== topt A % A 2 M = 1% 7= et ([ BH @ uu- Mz Aum
SHASINIR?

MZt HM MEEA LESS 5L0L O80 HE EE0IA YEILICE
THUMAM LESS M2 [ 32| ME0| AUgLAr? 9 BEIERLC, - 0j0[2 &3
AL Re: TE2 AESE 29

BUl AIZE A|EFR AL A HE ZE0) Hhe= A 0103

i

oMgatR?
B BA =S5 ALSE TAM LAELIC, LES0] 80| S0{7/2 9 HUL, L0l 20| S0{718 THO|
LEL|7E F=2|GIA 7| BIEFLCE,

| MBI AIA M6 250 £

(1) 01012 M= ff 224 HfHA0 O|HES EREUIN?
Why did Mike email the customer service center?
@ ZRE| 22 42| 71712 YT HO{K
@ ESS AIBH I 2 MRS E2M
@ M= L2 #O M3 AISHEE 01

(2) ¢i2 B2 222 O, L= X SHA|2.

Put Q if the following statement is correct and X if it's wrong,
@ D02 W7t &t e ES0] HO0| WL, ( )
@ DfO[2 M7t & = ES0 Z0| SH7HE 2 EUL, ( )

3. 2SO0l £ TT249] OjHfiUoy| HESE M HHAL,

Become a counselor and reply to the customer’s email.
' oy
gl N2 &Y =
Bl oAb & OFX} AH| A HIE Fi2
M= T 4 WY 22
2 - pt- X A A A L @ OE E=EE mE B O s HET BAR
CHASIMIR? KM= A3 2ol 10A12E A R0 HstE STFLCE S0 HEtE 017 LEEe Ml o2
L] FTAIH DTS LICE
~ = g

. B2 freeof charge 5 0ofC} wonder 08, 27 &E o



Vocabulary and Expressions

% [1~5] HE £l 220 U2 s D2LA L,

[1~5] Choose the appropriate answers and fill in the blanks.

1. EERS A 2/S ¥ REA0R.
@ B @ 24 3 3R ALl

2. 20| B K| 2470| EhM CIS 2R 21Z0) 2 2EU;
@ oy @ s ® Xz

3. A 284 M EID5 S0| ER0IS HELICH
. 2/ H PAE| B2,

@ == Xz @ A AE @ dg dd

4. A: N ZEEP} DHHNHA.
B: 12§Q7 Off Makeh HAML. S 08 £ US {08,

@ LA
@ CIxIRIE
@ AlA HE]

5. A O|EMS, SR Ad]A HHLC,
B: HE 0| ANM HBY=HR. B0 H321 2 HE =
A SHR?

©2) 1= thel HIE s BIEUA B0 2



sas) SAICH- a2t [

Let’s Review It « Terms 7-8

% [6~9] HE T 220 H2 RS UEHAR

[6~9] Choose the appropriate answers and fill inthe blanks.

6. A 2X| M|, 25 HEH XIHHK?
B: Z710 E2Al

7. A ST EIME OF 0| LT 2N?
: 0HR, CHS Z0| Qe Ny

o

@ W= Lt
@ i 9f Lt
@ W =Ho| QiaLict

8. A 70| M, 2H| HARAHR?
B: A E0 YA 19 S8,

ba

@ o 6
rryg ry
Sk ob ol
rr
0
0rQ

—
-
|
-
—
-

7

=
7

o

2. A GI2AR, A Ml 10A0] 227t A=H X HEGIL?
B: ZHAH, SR, A2t YEIM ==




10. [ISS 10 Y2 UES 22HAL,
Listen and choose the right answer.
@ U, HESULCL
@4, IY7I=8..
® 2B, TR,

Track 19

% [11~12] 28 210 20| goRAIL.

[11~12] Listen and answer the questions.

Track 20 '

1. =ES0| O 2X7t A=A LEHAL,
What's wrong with the laptop?
O K7+ gL
@ SHO| 2 ook,
@ BHHO| 2F LESLICE

2. 52 s Z2 8 1 EY
What is true?

>
1o

@ HAi= 12 H0 =EES MU
@ A= #=2| U|ES TO| LHOF =T
Q@ HAl=E 25 EES 3 += UsULL

©8) H1= Higl B2 2k BT A B30 2
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S VA Reading

13. LSS 2 911 W8 CIE AS IEMAL,
Read carefully. What is false?

Let's Review It « Terms 7-8

— = B

' Re: I 20f HFE shEol| ChL| T H20| SlAM X|EsH & 4+ UASLI7H?

P2 N ARSI X7| AY HISS KYE| T2 U

HIZL X|HgHLCh

Z78 339 oo

@ O] AH= 10| &= H & AL HIES XLt
@ A7| A HISS ¢2H SO A=HH0F EHLCH,
Q@ S=UE iR AHRSHA SAM BIZS ARELC,

x [14~15] CHE2S S 230l BolAlL,

[11~12] Read and answer the questions.

H w0 Haph A-0| HEUDL O AFRST et o &

LI, ZEE, 2120, 28
HIRE HI2S XY MOH S0 R ofer ZA17] BIFLICL 220 150] 8 712t

= =
=7
at

=4
=
X

BIOA Ot HEHEX]

BEUCH I2A RO HEE DR AUIA MEO| ZBLLL (O ) AblA MEOIS
A0l UQUELICH 22 ZICIRIAIRE AEBS MEUBLCL ¥ FO Mate 0fF B3
71210] 0K 22| HISR SRFALICE FOH Mats 7] K| U210 K|t 50 S 4

—

UAREUL. A2 X7 U 22 Oy,

= o o
14. 00| S01ZF U2 S TEHAL,
Choose the appropriate word to go in the blank G,

@ L&) @ _1eflM

15. 0| 29 LS 22 AS LEHAL,
What is true?
@ O] Al2 2| HIES LiX| RUSLICL
@ MH|A HIE YHHS ZIEGIK] RUASLICL
@ O] Aol =i Hots XZE X7t AU

I'II'
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Negotiation and Order

Vocabulary and

= Expressions

-] e he Less
iy (7t48) s=I0
e 2AE S0l e e e raise the price
ol
To negotiate a price on a reasonable basis, %[}|E|-
recuce
Part 1 ooy
.. be sold
(=3 2 A -
tA= L2717t O{EsUL )
It is difficult to lowerthe price. pack
e I(GHZE
dliscount
ECICI)

negotiate

W 100,000

@ Eﬂ Grammar

- 7|7t ofECH/RIEN
SA FI01 BOIN T BSS 5t
70| OfLY, ‘UBLIE 8 L
Ak

Attached to a verb to indicate that it
is difficult or hard to do that.

1 2ale okl |7} ol 2.
- fle] U‘O«'lf-i =E25P |71 g0,
- 52| Al 20|77} Hat
- f{EE2 o XEE Al HELITI? ofaizio| 2.

What product do you want to buy?

- FAHISC 71H2 o CHENR?

Why are the prices of the two products different?

96 HIZ 2] HIE A= H|EL]A 31201 2




1. CIE2 M=

B GFLICE N2t Z0] ZE| S0iZ KRS Fot MHAR,

The followings are product-related words. Complete the sentences with the words in the box. See the example.

zo|ct W ot 23|t TSI
5
-
-

MEZ L2 =0 2319 21717t K= O 20 A —rau

B Es gedguict y NS 087
@) [ @)

J

WV U

= MO HEXIE =0 LESE 30% UM HUA=C
L= AN : At 5=5E THA 7H4 2

2.CHSE H11 209 20| T3S 2HS0 HHAIR,

Make dialogs. See the example below.

(PR

L

MIEL7| 7142 LH2]2|7F ofES LT

bl B[4 255 ALE7| H=0 g
& Hgsuo.

| 1S YRt H 222 AL2 )
5 | () Cixelg eipct AV} EALOIA 20| Bt
> | @ zougs o 31 71710] Lk
7 | @ mogs st AHIR MEEE B0

MIE7| washingmachine  2& parts 0. B2 F



@ EEe} 20| Hafl 2HAL.

Let’s talk like the example.

K= 7RSI U= FO St AHIE 7H40] U5
HY A HEUL, 752 E0/8 oAng? Exm

’Isg Solct

752 20717t HESULC.

13 BEs NEH Ae2
B = A HERR?

b 1% 7tE2 & W & Adde.

SHE 1 HIEO| U5 HI A 25 L
I}

[ o, 1% 7S E e 4

2 ‘Q LHLA0] Lk BEX| 74210 L5 bl %0 Z&LC),
‘ ? 2 2 7ioz

it

| N em

9; I 2 ] ClXfel H2= =0o|ct
[ W, 27 BAHL. %

B ®opousumzzaun
WIS N St 28
xH:I.

2
O ?J
2

[ b, 2 saue, €

.
o HIZ % HI2 A= B|ELA 3120 2 S less  HIZ(GICD delivery 222} doth



1. G222 MIES & O FRE TA Y2RL? 2 5112 0[017 5l HHAI2.
What do you think first when you buy a product? Mark «* and talk about it.

s SR EPN | L7t

2. MRS JHO) Chet CHabIL|CH CHE S E11 220 EoldAlR,

It is a conversation about new product development. Listen carefully and answer the questions.

(1) OiXte] Mo gh= 2 T2HAIR,
What is the woman’s idea?
@ LES 47|15 S0[544L #LCL,
@ LESQ| 7142 28l 4aUd
Q@ LEE HA HIZ= { =221 &4

Track 21

(2) 82 W& 228 O, U=R X otelAl2.

Put Q if the following statement is correct and X if it's wrong.
@ LESS HA USET U0 H SLICL ( )
@ M= LhE RESE2 AU MSZ0 AL AlZH0| 4UL ( )

3. MXES TS O 2/H0| Ti=H 0EH| LAY = "2 = LiFA O[O |5 2HAIL.

What should you do if you have a different opinion when a new product is developed? Talk in two teams.

(BE

73 .53
7tAS Li2{0F BT} » 7tAg L2717} o1t
CRUESS m Ol&
71830] HiMA & OF EE A 2T} MA HIZ0| BO0| EAC
Tip |

g2 o Meeting manners

212 AlZt2 B AN SA| 2010} #LICE ojg eI Ofsisl7] gl
1 U 1 AR Z0| B W7X| Z|Cte{of ghlc), 11 Ohs
Lt 2lo] =2 & Hefoid Ligieh

ZHCH 517 LBHLICH CH2 AR0| 23|
0| KALD| o732 UBHLICE, 39)7F ZLIS! SlejAo]

You must be on time for the meeting and not be late, When you give your opinion, it is better to state in
a brief way so that people can easily understand what you say When someone else is speaking; you must
wait until that person finishes. Then you should speak your opinion. When the meeting is over, you should
organize the meeting room or meeting materials.

05 #uzt 72 99



slARIx
LR

& O = Og] A
Lot EA2 FEL 34
[o order the things you need.

Part 2
HZL O|X|2 SHASLICH

I'll pay by bank transfer.

- G2 2 22UE FE6l 2 Fo| USLIINT
=2UE T2 U FA0| oHRSLIZ?

Have you ever ordered something? What was difficult when
you ordered things?

100 HI= si9l 8IS A= B[ ZUA 3501 2

=] Vocabulary and

— Expressions

24 L

payment method

A\ Zt OfA|

bank transfer

AHAF
o

color

A 2f
ro
guantity

F2A

ordersheet

5=
o=

cash

B 2Y cranmar

()2 stct
TALR} 20| 40| O 20| =
Lt 5 g Metsio] 3

318 LiEfHIC}

N M

oo

Attached to a noun to indicate that
the speaker chooses atool, means,
or method, etc, to do something.



1. TH32 717 FEA2| YLEULICE RNt 20| TE0| S0iZ 013S 5ot MHAR,

The following is part of the furniture order sheet. Complete the sentences with the words in the box. See the example.

My g Vv 2 ey

Az Ol

P F

24

UESII

H2HA

844-123-4567

FEstAly  elsa IR

T =2n

07. 12. (2

€D 2HYY | D

mLl

reE HE HIE #s

S | Ad

2.CH2S 210 E7009F 20| i3IS THS0 2HAIR,

Make dialogs. See the example below.

2RI} W7 3 FOIM 2
T SIAsUIR

o=

=5 7ot

=

\

A
o TIRRAD 7H 2 |

(3)




[ 2ol EAICE o o

@ EXe} 20| Hall HaML.
Let's talk like the example.
A= =i HE?

L. 824 QUIX| FAR HIOH =X|7
QUELICE. 2 SRS

BtE13 UL 20t 27127

0l/74 ‘J

I'-!CI

USLICH 2= SIAAEUN?

o, YHBLICE g’

2. Q8 omiz z2sED U o wE 4 USNR?

of ‘J "N
7HSEILICH YHIZ SHAIZEU I e e (s

Y, eHELICH ‘."

Qg NERES X2512(T BT
TRIE| TS {2 & 4 Q0197

017} ‘J
JHSELICE OIE| BIAIZALITR

H, YU 9

1m HIZ Hi HIZ 2= BIZUA #2501 2 =Rt greentea  R|Z wallet



1. GHEES =4S F22 I 0 Y= S « 2 5fil Zaf| HYAI2,

How do you order things? Mark «" and talk about it.

1 ME [} QIEjLH

2. L2 FEME S0 ER0 HolAL.

Read the order sheet and answer the questions.

- Y gE

23 22N
FESE R MIEEXt &= A 844-123-4567
FESHE AR OZ0| ZE g 08. 06. (Z)
ZH gy O &3 b is [zt OlA
zz 4%
a8 SH 1007H
m2H S H 807
MEst 50#
(1) 0|30] M= FAE FEEUMN?
What does Lee Young Mi order?
@ = @ ARE= @ HARE

(2) ¢2 U1 22 O, C=H X SHA2.
Put O if the following statement is correct and X if it's wrong,
@ 0F0| N =8 NFRE FEHELL

= T

@ 0/Z0| M= AE O|HZ ZXoted Ll §HLICL

3. NFE8ES FEolHL gL CES BEY FE8 EHAL,

You want to order office supplies. See the following and place an order.

TR S =

R

A =

3071
JUEED 2074

. AE2! filing cabinet

=

Azt Ol

05 7t 72 103




- | ——
=M &=t
Problem Situation

JAEH Aims of the Lesson

A el el e 4 2leh

Totalk about a problem situation.

| slojal 20| & Q012

The conference room door is locked.

+ ¢ Jxk= sejdol| S0iZ 4 SISLICE A
=012 = ST F& A7t dUESne?
The man above cannot enterthe conference room. Why can't he
go in? What's wrong?

08 1= il vi= 2 bizU 2 012

=o|c}
be placed

2J (ol
be hospitalized

(0] &7|Ct
be locked

20| Yo|Ct
be blocked

have an acudent

A Ea[Ai HHCH
get stress

- O}/0f UCt

SHOE ZQZ 61X Y= A

ol 20M 1 MRAZH KKE=

HENRUIS LIEHHC

Attached to a verb that does not

require an object, indicating that the

action is ongoing.

- Blold o] HA AEUCh
F417h A fell 0 FUC

- vl E oA Helel elels
ol“‘-;_,lr_l.



1. OS2 X SFALCE 0L} 20| B S0Z 0135 20 XHAIL,

The followings are preblem situations. Complete the sentences with the exprassions in the box. See the example.

aks|ct V' At 7t Lict YUHstCt ASHAS Hirt
e - ~N
c |3 m
C | . ;
OH| Z|AF UM XESEE
AEDTE S LICEH y
c 5 (2) (3)
(i :
L= A HEN 20| wra| D2 MES BLHCE HA
- 2.CH2S 21 )8t 20| THEtE 2Hs0| 2|9,
Make dialogs. See the example below.
(5 l;)
<P | e @ o maet e ool o1
CiE say01 3501 o, €
oMl =fdst A& |
ZH A0 =0ICt
(m —— (2)
C | .
C | -
C j - = _ e -
X[t Z=2of & 73 CIAME! S M| oLy =2
K20l Ze|rh J st=20i| EE7ICH | OHItA] B0 YRI5

J T2 FAbroadwork  Z2|C} hang 10. 2H) &3 s




@ EXhe} 20| Haf| 2HML,

Let’s talk like the example.

30| ZH|Z O} Q7 ﬂ
|, =i 32Al0) S0i2 2 giole, 8|0 FH|Z T} 3ICt
o= S0i7H27 Sielu =erERe
= T——
1014 20| &A 9l0iQ
1. ? }
;
BN ol 8IS 2 Aot | Hl 250 402,

QR0 ME 2 !
2zl FEE TA0| LiTH ( P) otmmes aao] woi? |

= g

-

7 |

L=
i
=

] ), OFZ3H0F 342 % o= oFTE0k BT
\, EES 0] ofx wrt
Q 20| 2 BRR0IR7 a 2 J

i - o
Bﬁ ﬁ_@_m M, ? }

4g CPSILRICCL | FeH, £501 7022 AN
ey 0fo|2 2t 2Ct r € cuoium |
= T

— 9

106 512 s iz 2 ETUL 3012



Let’s do it '5'“ EAIEI’

1. 0222 FE8 =210| O e S35 HiE L2 Z0| UASLIZ? Olnf OFA| HELIN?

Have you ever received anything otherthan what you ordered? What did you do?

2, = AE2| THstelL|tt, ChES E1 220 HoldAM2,

It's a conversation between two people. Listen and answer the questions.

Track 22

(1) F& SH7H dR3sUn?

What's wrong?

@ F2E A=Yl

@ HOt = S70] gLk
@ #2820l IR YEUL

(2) S2 UiE% 228 O, T=EH X oA=L,

Put O if the following statement is correct and X if it’s wrong.
@ F=EM= OIX1e] 2 210 Az ( )
@ NEZ A GRoA =EE EHELICH ( )

3. £26H 2200] MR YALICL T2 MEO] HHES MASH S MHAS M 2HAR,

| received something different from what | ordered. Write a return application to the customer center.

b= =
FEol =

0=

QHIskMIR?
e

Bl home-deliveryservice  BEE rerumn HIEA application 10, 24 <4 133



‘I 0 x| &%

_I'J"-E-H Aims of the Lesson

A gl High ol =
To describe the reason for the problem
situation.

h

of 20| YWHER

Something urgent has come up.

* O AIEHOlIA| & 2A|7} 421 A Z2ELIP
OfE7| slH ZS7L7

What seems to be the problem with this person? What should
he do?

o HIZ B9 HIE M BZUA 3201 2

= 4984 gl

O|ZC
postpone

HiHCt
change

E"é(OHZH
lost
SHE Ko

sleep late

WS AR}

stay up all night

0| 47|C
things happen

=

MO

=
SAILE FBAL Fo| 20I1M OIRE
LFEFHC

Attached to a verb or adjective to
indicate the reason.

- 0 Bl olo] all=n.
- FE Aol MAUHESR,
- Alhdo] 5] Zjabdl] SAIHER.



L |
Let’s practice e §H Eﬂ":l' Eé

1. ChS2 22X J=ILICEL 202 20| B30 S0 035 2ot XHA2,

Here are problem situations. Complete the sentences with the expressions in the box. See the example.

o
=
40
iml
Alr
oz
o
sl
il

V' 0|2} S5t it

AN
A ol 'Ez{GW AL5S O{H| CFZ2 2 SHiA OFEld

oIZgiSLIt

Q= ZH TR0 HAl 2IAHOflA

2. 0SS B0 00et Z0| iEiE TS0 BEHAL,

Make dialogs. See the example below.

v ESEH0| Msigict ol 7t=8 2AT
(1) 2 szt L OF % &3 ik
@) &3S iz | 2P| ol Mzict

@ 0l MES DEYC 20| Kirt

ZIK7| suddenly 10, 24 42 109



@ EXet 20| sl 2HAR,

Let’s talk like the example.

Iy, LHE €82S 0/20F 2 A 2012,

927 2& Y 207 RIZ0] 27} 42104

28 BSELERIEE

M= EX7t GHER.

1efQ? 1d 535S OEAILL

1. ]

ST HiEY| 3 oY esi

a1eQ? 13

Q -S| 3|A] YIS 0P & 4 2018, }

| Y HoI M 20| et AR? 2 Y Y0IR? @
EEN =4 gms v

[ 2397 13 -

0 11z e 2 2 bmUL #5012



1. GHE2 2oLt 245 0IE HO| UsLN? 9l DISUASUI?

Have you ever postponed a meeting or a business trip? Why didyou put it off?

2. CtS HiAA THetE 60 2R BotEAI2,

Read the messenger conversation and answer the questions.

<
| o OF O MERY 2ER
IFEO| RQAAER.

e Q7 X7 | A7 a

opy  BAS EHED ANES
FEotHIAQ.

U7t BiLks %01 02,

0l314

-»

g S82 U= 22 0|EN8?

HZEH 242 @

sssss LTE 1:20 100% HEED
opis  XPEY =SS 0I8H
@ of %77}9-'?
' xt=2810|
A2? 22 U 00127y

T80

MEFHES =8t HallxL|nt  x=slol

W, BIg7| He) 5 GlofS  menol

(1) X20] xtF2 A STS OIFHL LIN?
Why is Deputy General Manager Zhao Wei delaying
businesstrips?

D ZHE =24E0F sHA
@ =28 K= HEHO0F slix
@ AMEFYHUM 2= 2HE THLIO0F ShA]

(2) ¢2 L8 2oH O, LIEH X 3lHA2.
Put O if the following statement is correct and X if

it's wrong.

@ 0|24 CH2[= HIH7 |Bot 29 02fs
bpE AU, ( )

@ O[2l Th2l= BHE SHHEL MNES
28z, ( )

3. L2 A=A 222 OEA SISLITNT EHE TS0 2HAL.

What would you do in the following situations? Make conversations.

(o "]

EAIC}H miss

10,24 42 A1)



E U S B Vocabulary and Expressions

% [1~5] 2E £l 2200 A2 A 124,

== A=
[1~5] Choose the appropriate answers and fill in the blanks.

1. HS0|L7t o2 A

@ R FHL

@ &H FHL @ ZHol =M
2. AH SAE HEZ IS 2F MEA| BELICE
@ H&sHM @ UM © Bl
3. RRIFIES s|AE 20| 2ME += GRsHH.
= ol @ 2o Al

® Z2HA

4. A g2 018 StAIEUN
B: EP=EE

@ 10074 =
@ EHo=
@ Azt 0| =

5. At =g M|, 25 B0| TjZE A Z0[8.
B: Ul. O{A|

i@ HIZ Hi§ HIE A= HIZEL A Bh20] 2



= n
=&6) SAICH- 910 |[<K

Let's Review It « Terms 9-10

% [6~0] UE 2 B0 YYe A

[6~9] Choose the appropriate answers and fill in the blanks.

VEHAL.

A FEA7H OCIO) QU027
B: Lzl &4 9o

6.

@ ZEAIC

8. A EX 7H4E L2l X0| HEsuUnN?

B: It BE& AIBallM 1A=

@ =l dsUHH
@ HE = Asutt
Q@ L2717t HEsUC

=2 & SEANR? AR QEIX|2F RS,

0o

9. A:
B:

@ Qx| FAS OAHIL
@ EX| FAZ SHISUICH
@ Qx| F=A7} 50| Az




10. CIES 10 Y2 UES 12HAL,
Listen and choose the right answer.
@ 20| waviER
o¢ ol Brtee

Track 23 4

% [11~12] 28 210 20| goRAIL.

[11~12] Listen and answer the quastions. Track 24

11. OXt= off FXI0A Metais L
Why did the woman call the man?
O X2 T A
@ oA H10 HHA
@EIS 2= A 20N

2. 52 W& 22 S DEMHAR,
What is true?
@ OAl= MRS ORsUH.
@ MXt= Xz Eaol 7t S’LCh
@ O{AH= AP THZ0H LHZER] & ALICE

W14 H1= 3 HIZ s BEU S 31301 2



Reading

 ENE=1= e i)
Read carefully. What is false?

1 L8 THE NS I2HAIL,

Let’s Review It « Te

ANFEE FEA
HIEMT S ] 844-123-4567
Y =2 L 04. 06 (2)
(&2 Y= [ A= oA
AAL ek
H=M 10074
bt 2 hAH 807
bid 2071

e B e e e e e i e i i e e e s e o e e e e i

@ =9 M= HE MU,

@ &Y M= 2= ANREUL

Q B MiE AFEFS FEUSLILL
% [14~15] LS8 1 230 HolAIL,

[14~15] Read and answer the questions.

Soll EAlst
E[Hﬂ':'—(}ll OS 256 g2

14. 00| S0Z Y2 LS

) JL HBE EX

2e[uH0] HH REE A
ol g} EAtHIM =

TEAAQ.

[23HA 7+20|

Choose the appropriate word to go in the blank (1.

@ 184N

@ 12|2

15. 0 29| WS} LIS HS TEAA|

What is false?

@ Sof SAl2h HYH|H2 l:il

26l A= L2 "u)d
Q ZY S 3HIE

2= §0|

o

ey
B9

#2IE HO| o7

@ |

rms 9+10

LICH J2ix & 2t ERU
PlotM ZE HIEE
S 202 oHE HaH|X0| o & HE Al &L




HE 49

Product Description

8152 H Aims of the Lesson

AF 7152 448 + 3k

To explain product feature,

02k 7|SOCtTE et 7S

OIAL||:_|-

It has a translation function as well as a reservation function.

» O{2420| M= R HMSt= O 7|S0| USLII?
MEel XME 7|sE L USLINT?
What features does your celiphone have? Do you know the detailed
features of the product?

{16 41= el vim 2o bixU 2 01 2

EL

remote control

A
I

waterproof

gcchf _____________________________________________

specification

record

repeat

“191(0H-'—f)

translation

yil= g,

HAL FHOl E0IA 2] HAL| H
of WA} CISHEIS LIEHACE
Attached to a noun to indicate

that the latter noun is added to the
preceding noun.

- Adjolcizt A e w3iel L.

- A Age 9 7l =55
7Ve% ol8.

- A Bolis F=o] olciz} Loy
A= glel e,



1. OS2 M= 7S’

e AR BAILH Gy

oF 20| 230 S0HZ 02IE 0t MM,

The followings are product functions. Complete the sentences with the words in the box. See the example.

e
=

0jo
T
5

()

2. OEE 24 202} 20| TS ¢

Make dialogs. See the example below.

ﬁ-"ﬁ 0| =LH &

v &0 st
(1) ES
(2) MEI

3) ARH oHZE[ZH|01A

OHES|HIOIM application AR diy  AF=S automatic
= [ [ )

2E0 2HAL

FLH S0 0E 7150] AHK?
=5 7St A 7ISE UNHL. g

L= Y gl nkg

m

(3)

=5 75/ MW 715

===
s sH

ls | X Y 7|

0ot 715 / TE 715

olr

55715 /U9 7l

=

1. 2 417



@ SSH SAICH Cers v

ot 20| Hall EHAIL,

Let's talk like the example

O 7150| YU0IR?

MEZ L TER=
AE &8 7150t =2 7155 UL
Y4 7155 AHL? s 54 9%, =2 5C
otLlQ, W 7 4 7ls X

!: ) M2 LI S HE0= 0H 7150] Q0127
Exedd &

o £

|11|E s, ARIEE 7Is
A,

oY XA O

Gl A E0IR7

2. & 1 NAE=
& 3 FIA EOIR.

£ = 527

4 g o
orat

) 1 uge a7 zores
= F0pM £40| LojL, Q

T He?

4 rast 712, MulA G Q
3%

OHIE.
Ut alarm

1B 512 i HIZ 2 HixUL 32012



1. GiHE2 AA0 0 71S50] T JASH FASLIN?
What more features do you want yourwatch to have?

=818 S W lE

2, [t3 HEME S 20 EoltiAe.
Read the product description and answer the questions.

AA 2l EBM

M= HE: A A-2 A a8y

A7+ gl EAE RS ARSAS BIAALT S
Fuck ST v i
) |

(1) O] 2= 70 thet LHERIL7E?

What is this manual about?
@ K=l 7t4

@ X=2l 715

@ HZF2| ALS HH

(2) 22 g Z2oH O, TiEE X 5IAAIR.
Put O if the following statement is correct and X if it's wrong,

@ O] A|AHIOfl 20| 07t M0 HUCL ( )
@ 0| AHZ A & £ UL E-HE & 5 UELLE ( )

3. 0f2[20| MAFIZS WESI2 2 ST 0EH 7150| ASH ZE27197

You want to develop electronics. What features would you like?

TS 7151 7152
B0 A8, Ly,
KIE(7| 5




Vocabulary and

= Expressions

el A, .
BES Amecrtel o
= oo

ASel S 498 + 3l video
To describe strong points of the product.
4™

the latest model

7-|AH |.|:b
search

=3HoICH
record
KA

shot % ( fEﬂ

videotelephony

-E-ﬂ Grammar

-(2)#N

At FCl 201 e 180l H
O LIS} AN LIS LEHH
=

Attached to a verb to indicate that
the preceding occurs simultaneously
with the latter.

* Oi2AR2 2 HMIF TAIZ(0l 7t BSLIIF? - ¢ glom Be Hola,
TAZlolM o MZ= BSLIVP sohe BouN 3¢ A,
Have you ever been to a product show? What products - B|Abol] E2EIHA AR A
did you see at the show? Azglo] 8.

120 HIZ el HIZ 2= B[ =LA 3201 2



1. ChiS2 XM= 2Lt 2F Z0| B30 S0E 2= 30t AEAIL,

The followings are product description. Complete the sentences with the words in the box. See the example.

(3)

2.0ES EY of 20| thstE TS0 262,

Make dialogs. See the example below.

%P Ol Ko #ES 20L?

My (2)

ZHE strong point 1. H& £Y

Let’s practice ﬁ%‘-gﬂ ‘EA“:I' %

il



@ EEhet 20| 2ol 2HAL.

Let’s talk like the example.

~ v 4
%8S L}
OIE{Y ZME BiCt
4l B5S HEM QIEUE
AME & UBLICH

oS XA

\) OIH0] SAIE Haiju|HLICY, ]

<y Elﬂr% 2ot ( 1297 0| HH|MOZ =81 & £ AKHQ?
=3t 5HCt '
e | CEOLS CH| 8 ﬁ tl. | ]
=S | =
EE -

SHa E81E SiCt
EME HESIC}

2. @ O|HH0l| AHE Lte E=QILC) }

i 4

ra
o

g o 2SI UCH

[ Q7 0] LESOR B EFE & 4 Q0IR? g

3. / g 010l M= L2 AE OIEE/AI0 8 LT J

3
“ HIE Hi9] HIE A= BIELA 3120 2 HXICE cool S pronundiation



1. (22 O J{O T8 Al ASH7F? o I 5l 0[0}7 |3 2HAIL,
What cell phone do you want to buy? Mark «” and talk about it.
I Kot L 3k 88 7I1s0| Ut

R s By

Track 25

2.2 218 E10 HE0 oA,
Listento the ad and answer the questions.

(1) O] & sk F10i L2 7150] OHd H2 FOILMN?

What's not a feature of this phone ad?
@ ah =&t

(2) E2 LI81 22 O, LI2H X 5I4A 2.
Put Q if the following statement is correct and X if it's wrong.
@ 0| Fi &= L= X| 225U ( )
@ 0| U ®3t= X2 OHAGIA B UsLICL (

3. CG220] 71X| 1L QU= TAt MIF IS TS0 HYAL,

Create advertising of an electronic product you have.

«MXFHE OIS :

=

l:‘x:’fxu'i :

1.2 4 @39



B2

Report 2
aﬁgﬂ ms of th 2350n
A a8 ¥ 4 gl
To make a report on market research.

Part1 |
- 24| 3Al HIZ2 ZH0| Q0]

HYLC

QOur products are thought to be competitive.

-OlE{E2 AL H DS § Ho| UALIINR
=007 Foi2 B AL

Have you ever reported in your company? What did you report

to whom?

28 412 o9 HIE 2 HIZUA #3012

7tsd
possibility

HY
outlook

B2 &
(young) generation
Opx|ct

finish

H|l{otCh)
compare

O|de=

that's all

@ -E-‘ﬂ Gramimai

- 0}/0] 2o|c}

SIS AL S0 20| T SISAKH
LIARIALE 32 ANES LiE
LHC

Attached to an adjective to indicate
that the speaker feels or guesses like
that adjective.

- ol 237} Fof 2t
o] dleld-> wrol ulzel 2efuct
- 235 TUAE 54l stelof
Heluct



(g g 1 5 |

(g i )

L9

U o Q

L

1. E‘l'

2 AIE ZAF 2T BREYULCE YH2 OIS HESID ET0 e 20| 238 WS
Eﬁ,‘klﬁ,
The followings are expressions rlating te market research report. Connect the words and complete the sentences.
See the example. .

v (=B J- . H| ST J
m e ] . 3 o} l
) k54 | . HiC} |
(3) i | ofRIct |
11111 19111
OO o[ Ale] ©1 S/ uHIHSUCH |
m 1 A2 01/7t OF/OM Z2 S0iIAl 1717+ s
(2) T3 CIAO|E I OfLt QU2 BME 54 01/t
(3) QUELNOIM £/2 (O B0 HEES MEUH
2. CHSS AZoka 002 20| hztE 2HE0 2HAML,
Connect the expressions and make dialogs. See the example.
 HIEH AlE| MY j = LA Y E— =
(1) HHZE 21| } . ;
(2) M=Z2 ORIl CHst M= J . :
(3) O] MiZ2| HE2 S AH|AL IS J 5
€D ﬁ HIE 2 AlZTS] HUS OFSLIN?

X20| $0F BYLITE




@ EXhe} 20| Haf| 2HML,

Let’s talk like the example.

Fef A0l et 250 HEEUMT

[\

Ofz= S0t HL|ct.

Tl o Bt
CHE %23 lE 5K ZH0|

USAR7?

ABEH0| &L}

Ll A8=0] &0 EL]C}

e (—
deaas®l | @ e men wasw 43wt

=0Tt
u k.

2. _?_a| LSS0 TiSH AHIRIS Q| 7|CH7 OIE &L |
Q Cj2 MZ3u|E
T

. Q

ar
o
k=
3o
o
=
FO

~2

_Q EER e ot “

[ HBE THsH0| ASTR? | 7Hs430] Ut

o]

3. ﬁ S8 747} S20| (3t AUKIE S| HSTI} HEALIP
0 BFCL \ | :
LI x| O4Ct 2§ CHE MED: ulLste 2820| S7R?

HIZ b9 HIZ &&= BIELA 31201 2 AR competitiveness  &SE0}C} besufficient




1. 20E & I o A2 U =ME ol 2HAL.

In what order do you report? Talk about the order.

Xp7| AW ( ) e 27 ( ) OfRl= & ( )

2. F AlE2| CHEHLICE THEE E1 2RI EotuA2.

It's a conversation between two people. Listen and answer the questions.

(1) GXt= FUE EXsUR

What does the woman report?

D AUHF MY ZAHAIE @ 2O Hof ORI ek Q FE AIE ZAL Z21

(2) S2 W31 22 O, L= X ohAI2.

Fut O if the following statement is correct and X if it's wrong,

@ 0f BAF HIF2 7HE ML OARIE E&UL, ( )
@ 0] ElAt HiE2 fE AEUA FY=0] AsHH ( )

3. 02 25 M2 0o YT 3 SiLIE Mesio] YT 208 o 2HAL,

Fillin the blanks. Choose one of the types of reporting in the box and make a report on that.

ExHD slolRo AR FAF T

OHIBIN|Q? Kl & QLY
I|-?| Al

NI S/2 WD caAsU
w7 yg ;
ORls 2 oo S/2 DREIBLC

240|C}t begreat  ZL result 12,212 .



QTAE_]:[ Aims of the Lesson

HARE A sle] U

Toreport on the new product development

71S0] B2E 7140] HIMRELIC

Lots of features make it expensive.

= Sgde g

Wt

A 7]

« CLIE2 21 %= A0l v 2 SHAI2.

Listen and mark & the correct answer,

- Oxl= 2AE AEES %55
_____ - OAl= AAIE 22 0f Dol 540

@ HIZ B9 H R A B A Bh0] 2

220
graph

7‘*E(OHZD

examine

lower

2:HI(H)

consume

(G

reflect

(84=40]) BO{R|C}

decrease

- OF/0%|ct

SEAL FHO 201M T HE7H
BighE LIEHAC,

Attached to an adjective to indicate
a change in state.

-2bel 2207 710 AapeEuct

- S S48 Hout TRl

Zojzola.

- AhamE Aol F ¢ wed

APt ol WS



(g ) 10N g

ty NN

N 0N

1. OS2 LMS 7HY 5/2] 23 O$|ILCY, Ui et 20| 250 S01Z 01315 30t X HAI2,

The following is the vacabulary relating to the new product development meeting. Complete the sentences with

the words in the box. See the example.

HhoE5lC} AEsict  AH|atct

JERY

EED A: ofg7| 512 2| WX MB =Tt molEne?
=

B: F7|B HA kHlst = MES oHEH E2ELICHL

O L U

(1) A HIE 7S 229 ojEzie?
B: Z712{0| S27HH ZH=0|

(2) A: §3&S otz 7P|= Role
B: Z|AS0| & 27iS

vV oUW

@) A: O Slojet LISS Ch S0k} Bole?
B: U, HA| 3o LIRS LIA| EHA B2

oL/oIM Fol|= oL,

Ho{ x|t

214101

2.OEE 240 0002 Z0] H3kE TE0 2HAL,

|~ Make dialogs. See the example below.

2
> ED & o0 w goianiUsE)E Hetst
™ ofznte?

=M. 7170 MEH ZO| oF ZOHEILCY.

71740 4 S0|AH|(USB)

7F240] Mkt Zo| 9t St TM

> | steo) 2 ey L ELER [
- | .
o (2) 7150| B2 SAP| 7150| E2™ H|MLt
(3) 71S0| BXA| g2 ME7| 7|150] MO™ ZM2{0| St
| | ||
7| elecuicity SO0 AH[(USB) uss & quality 12. 82132 .



@ EXhe} 20| Haf| 2HML,

Let’s talk like the example.

OiH HIES X&5H |2 A ?

Jhz0| Mgt B0 HEE MR U, =5 i 72(0| MsiT

Z| Q. 7120| Aol ZMET
EOIRIZIL

0
=iH= ~Iii=

oy
oz
i
°
Hi
o

Hl, 28 A g4t

OfH K22 F&oh |2 YHR? W

4

=3 %qum RE [ NSZES HAE7 UL
ToE= e ; "-Ie. ;

50| 24l0) zuje ' ]

v, 3w A EeUd

! # 2}HO| Lt

U Ib : gt % 71240| HIMC}

HEs ®Aoh = HHK? J

Aim

S| MS HAE U Q

)

| u, 1w zeun. @

3. OftEl KBS HNE 2 YOIR?
x| === MO| 3H45IC —
) # o [ e Az s, €Y
®

oil-& *xﬂa 71210 Zict Z01|Q. 18|

Hl, 38 7 g&LLH &

130 41 ol vl 2 HmUL B30 2



1. GHE2 LSS /ML i FXU0| 7H8 SQELN? o 2 5111 0[0f7[5l 2AM L,

What is most important to you when developing a new product? Mark « and talk about it.

7t I b OE

Track 28

2, MIRIE 7HEOf chet 20RILICH THES E11 220 EHohAIR.

It's a report on the new product development. Listen and answer the questions.

(1) AFHLEAME FAE 71Dt LR
What are the R & D teams trying to develop?

@ A1 7150| Y2 =AY
@ 7420 MT 37|17} 52 FOH Hst
@ CIXQI0| 01T 7|50| B LEE

(2) E2 W8u Z2 JaZE= SR BF IT2HAIL.

What is the same graph as what you heard? Choose all the correct answers.

@
@ B2 7= -H|& T2 HiS 7|5 -Hl& J23
120 120 | .
10 - NG .
o P N |
40 ] 40 | \T«-
20 |—i - : 5 20— —t ___\\_
0 ~ I ] 0 i i \.
1 2 3 4 525 1 2 3 4 57s
@ @ .
e 7]l Jefm e 7| Hl% 2201
120 : 120 , ; _
100 [~ 100 I g
P | | =4
80— S RN 20 i ,/ i
60 =~ e 60 ~—f ! 7
S L
20 20 | -
gl L I | i 0.2 i
1 2 3 4 537 1 2 3 4 5 37

3. CiE3F 22 LIAIE 7H0| CHoll 2 0ok 2IAS Holl SAIC

Report and comment on the development of new products such as.

. 7150 e AP
- M| Cioret 8EE
- 80| 2 Frf X9

O ke this 12222 @



Had Vocabulary and Expressions

—_

X [1~5] HE £ 220 YoU2 AE NEHAL

[1~5] Choose the appropriate answers and fill in the blanks.

1. MEZ|9) XiMfet AFS R

O & Lot AsUCL

@ dEA @ S| Al

2. 7HA0| W HES M HOM & dF8 2H4E

@ gs HEAM

@ =St @ HlmELICY

3. Ar ZAE ERH KO
B: O] RUIAH0| SHFMI<.

O SE=§=v5cd @ H|REML

4. A: B0 Hsofl 20| SHIZIE HUIP
B: .

@ =3t 7150] Gl
@ BH 71500l 2X7F ANL
Q@ == 7IS0| AHA HFHOIR

5. A: AMIE A ZAL AT OJEA LIREEUIR
B:

@ 0| A LrrtsLC
@ S FMM HARUC
@ OO H1E OX|IZaUCt

432 HI= th9l HIE 2 XU A B0 2

@ MY

® 20N



256 SAICEH- 11~122 |[<H

Let’'s Review It « Terms 11+12

% [6~9] HE T 220 H2 RS UEHAR

[6~9] Choose the appropriate answers and fill inthe blanks.

6. A: O] AHE O 7150] 201R7
B: = s NS

@ 2 7S 0lA
@ Y&t 7150174Lt
@ Y& 7SI

7. A ﬂiﬂa—] HId2 HESLIR

8. A: 0] i2fd2 Az FAUE ofd HHI?
B: HIAE HotS ol A M.

ORELIE
@) REAIGHE
@ ALY

9. A: LIS 7I50] Qls LERS Jisim o)
B: 715501 CIYSHE 74240

@ HMELICH
@ HIME FHUot
@ HeW EASLIC

g6 133



10. |:|. OH:I C.') LHL‘J-C’ g)é)klg_l
Listen and choose the right answer.
@ Ciet 7150] RS,
@ 71s0| B AH|X} BS0| Z0HE HHL.
@ 0] d=2 & 7IS0CZt 62 71S0] AR,

Track 29

¥ [11~12] OS2 S0 20| HoldAL.

[11~12] Listen and answer the questions. Track 30

11. AEZEC| 0| 0jH Z1S D2,
Choose something not related to the new product.
@ 7150] HEU
@ M= LI2pA ZFH0| BIRLIC
Q@ SHY= HEAM =5} & 5= SO,

12. S2 U8 Z2 A8 DEHAIR,
What is true?
@ g} Y2 B0 20| 2EUME £ AULL
@ OE A NSEC O 2 HE A €8 HEI

@ o HE2 B2 2UAEY YIS S ZARISULL

434 HI= si7 HIE 2k HIZUA 330 2




&6 SAICH - 11~122

Let’s Review It « Terms 11-12

FiPJ Reading

13, OigS & 91 L8 LE AS I1=2HAIL,
Read carefully. What is false?

SLIIRIL 22 2203 J0 T2t

D e FHE Y W SO WA mLct

@ 0] 5l M3z SGAE A E £ QL

@ 0| B0 Mot= =HHUN AlSE 2=
UL

% [14~15] Ch22 1! S 30| HoldAL.

[14~15] Read and answerthe questions.

QITUHUE Tea ZAKIQLICT KE| EolA KU & o SO 92| LESO| AR 1SS
ZARISLICE 7150| BT LIXIQI0] HREIN AHIRIS0| Ot 2.:—11 UL ( © ) ERS
HIEIZIZ @7 ALRSt 4 Si01A SHsH SaLIC HIER B82S Sal= %0 LR,

14. OO S0HZ Y2 L= T2HAIL,

Choose the appropriate word to go in the blank G,

@ 2E4M @ 8|1 @ |

15. 0] 29| LS 22 A= 12HA|L,
What s true?
@ 0| =ES2 UiE2|e| 80| 20t SHELICE
@ EFS N3] &0 AHX} 8IS S ZARSULCL
@ 0| EERE HARIEN 7|5 HZ0 21717t E&UCL.
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Listening Script

e

Answers

=
=H 28

I
It

Grammar Explanation

SA/EEA EEE

Verbs/Adjectives Table

03] 3 H3 Aol
Vocabulary & Expressions Index
=7| I =X

Table of Files for Listening



=7| =

SlAter M2
@D sf SAICH (23%)

2. I2S =1 230 EotAlL.

O XISEE MEMAOIM A2 SASt 201 M
3 ME 716 ISLIE M2 CIXR, 715,
714 SUM 24E0] Ot TUHSH= 55
gL(Ct, MXN X MSECE 7t TS
M IME0] O ZORRILICE M AR
M = 7HXI7F QU4 CXRIE OfF MBS
LIREUL 71e2 TIYSIKITE =t g
AIBE = QISLICE 12|10 CHE BIAL JIE
HCH Mo HOisI2 UASLLCEH HEe
S M BHAIR,

oo} 017}

@D i =AICt (272)

2. THE2 Q12 M2t Ot MO tHarLIC &

ZE0 FoHIAIR.

PORLY M|, & XISH0127 2F 0187 X2?

& D2MES 511 Y02, 0R2E 07}

Or&.

HOLY Mii= Sy 0l U,

Of: Ul. OF20] HOMA| BIE01R. Ql=at M= &
R|Le?

2 W 2F WY E2E 20 slAA 3=
SUS ET AL,

Of: CHBHY2, IEat M Y SRt A
202, M HIROH ZAEH OHYS,

g D2 HEJ SLHH 20| SFHL.

Track 01

2o K

52 fO

oc

138 H|Z gl HIE 4= B|EL]A $t50{ 2
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